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Question Paper Title : TAIT_PAPER_22

Date of Exam : 2017-12-21 12:30:00.0

1 I 3ol uRede o sruarndt, el faetedt (P), (Q) (R), (S) 30T (T) 81 Urel A1) Ui SiehHM
TR HT; AR ATeid Uil ST .

P. Tes THUDIR dg RIS W S0aT0aT dSsiie BN T i /ol IiiTe 3 gadhe 3for Rig
G BRadd.

Q. dl U TRH IgresTd fead gIdl. uruht fUuarardl Ut Bical deArsides Rig 3Mfor gam Adid.

R. d U groft T St aar sasmuedr Ariar fea S

S. mqw%mma f, MuTS Trte! Ue fdval Ge! Wiel TS ale uTgd iTed, o aramsra!
T. 1or sieh ot RUR araRe q1G U 30T dg AR GH JIUIMTS! o UTSTdes Yisd, degl A
LTI AT fob ATeaTaR FUTS SR

JIRET HeHaR ATATaUdD! HIvTd T A SRa?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The lion and the boar then decide that it was best to make up and be friends than fight and become
food for vultures.

Q. It was a hot summer day. A lion and a boar reach a small water body for a drink.

R. They drink the water together and go their ways after.

S. Soon they realize that the vultures are waiting for one or both of them to fall, to feast on them.

T. After arguing and fighting about who should drink first, they get tired and stop for breath, when they
notice vultures above.

Which of the following should be the FOURTH sentence after rearrangement?

ostes & o) :AUla (P)e (Q)¢ (R)¢ (S) s (T) ushlsms =8 o5 a5 jen ¢ S quiijio sy A S | jm siea b S
—anole S

P o ciss el hs e Spham S ole) o b idla SR 55 58 o8 SIS Alad 5w sl b

Q. i i b md sl s Wb QIS e RS,

R. 28 J50 oy il ) 2 o) by o e il s,

S. 5 S S ) 55 (S8 o Ly LS U S (550 b Sl s ol 28 1S gy il ) (sl

T. e Wt ol S0 a8 S LSy g can o R A1 Sl gl sl 8 Sl gy o S S S ) S

Sl lpldhmadalegSa S _aacuwiejbs
A.P

AP
AP


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

B.Q
B.Q
B.Q

C.R
C.R
C.R

D.S
D.S
D.S

Answer: A.P
A.P
AP
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2 Out of the four alternatives, choose the one which can be substituted for the given words/sentence.

A procession of people who are walking or riding in cars to a funeral

A.Cortege

B.Epitaph

C.Mortuary

D.Obituary

Answer: A.Cortege

fAcar: Wit Arferddid TeTes TS Qe

3,6,9,12, 15,

DIRECTION: Find the missing number in the following series.

3,6,9, 12, 15,

06S i 008 ez S dix by

3,6,9,12, 15,

A.15
A15
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B.18
B.18

C. 1
C.1

D.13
D.13

Answer: B.18
B.18

Answer:

5 SR x:y=2:3 3for y:z=9:6 3d, W Xy:z e

Rxiy=2:3 31 y:iz=9:6 5 X:y:Z S0 S pslaa

1/8x(223+?)=T71
1/8%(223+?)=71

1/8%(223+7)=71

A.342
A.342
A.342

B.346
B.346
B.346

C.345
C.345
C.345

D.348
D.348
D.348

C.345
C.345
C.345

If x:y=2:3 and y:z=9:6. Find x:y:z?
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Answer:

A.2:9:6
A.2:9:6
A.2:9:6

B.3:9:6
B.3:9:6
B.3:9:6

C.2:4:6
C.2:4:6
C.2:4:6

D.2:3:2
D.2:3:2
D.2:3:2

D.2:3:2
D.2:3:2
D.2:3:2
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6 I fearet mfedt dreseiigde arar SHfr Wretd wsi IR &
eI P, Q, R, S, T 3101 U Ao hU=gid TH Hdld, S - TTd, $iRdd, Wafdsd, Tud, hagd
30T HRST T § AT A Sald 3 gl
|. ST G761 C ITaal 318 df YUaHed HIH dal 30T S Hie] U arda 3Mg al T H HIH Hal.
II. U BT Ui fbar lhageded 1 $-d g,
1. P 8T et Tram 2 aroRar 3nfor 3iRed Hel BT .
IV. S UgHHS HTH HRId el 0T MAfeH feaan I relfen uraifod daid el
V. T Teed &9 Fxal 3N S fobar N gt Tud Hed &1 v e,
V1. Trage feva fdhar fUgesn T =1¢ Ui &R ATeid ST R T L 619 HRdl.

DIV SS! 3IHYU Jebdl?

DIRECTIONS: Read the following information carefully and answer the questions that follow.

Six friends P,Q,R,S, T and U works in different companies namely— Google, Oracle, Prometric, Apple,
Facebook and Tata and each wears different coloured company- sponsored shirts, viz., White, Black,
Orange, Yellow, Green and Grey though not necessarily in the same order.

I. The one wearing the white shirt works in Apple and the one wearing the black shirt works in Google.
II. U does not work in Prometric or Facebook.

[ll. P wears orange shirt and works in Oracle.

IV. S does not work in Facebook and green coloured shirt is not sponsored by Prometric.

V. T works in Tata, and neither S nor Q works in Apple.

VI. Facebook does not sponsor green or yellow coloured shirts and R works in Goole.

Which pair is correctly matched?

o Dl S sl R o sl o5y e e S il i3 an ke iy

sl g Pe Qe ReSe T Ll UG ) ecSomasd el oS Jinas s e85l « 88 — (ol S 0 0 58 1S (e (s s
Y 2 81 e sl G el (0 IS i s Ui Sl g (S el (S S (S K0 Caliine Sy
- e T Sy sk

| = S a8 ae R W1y iy &5 (S sl o U8 &S Gae Jyl W1 iy &b b

- U - = BS a olS Gae Sannd b S Sy g

- P - = BS a8 (e ISl L) o iy S5 Ko

IV-S -2 0 e oS omailansl nmg 3 S S Jhaag S5 (S K05 2 sl 2 BS Gl oS (e Spsd

VT 5l b B8 oS e BES o 3 Q ot 5 oS e

VIsh = S G uailgusd &35 (S 805 b S . R o WS a8 e KK

¢ = liles o p3 155 L g S

A.BS-UIHCH —P
A.Grey—Prometric—P
A S S — s —P

Bl -Bhagd-Q
B.Grey—Facebook —Q
B.Swwd— e —Q

C.®HT]-AHfcH —R
C.Black—Prometric—R
C.Siwy p—YS—R

D.8 Id
D.All of these
D.em 2o O
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Answer: B.®YsT -W—Q
B.Grey—Facebook —Q
B.Swwd—)see — Q

7 =T Wiellel WeTd, fGetoar Gaie= Acaeas ey Hiswdr f=as.
DIRECTIONS: In the question below, select the related figure from the given altematives.

oS e sl Al i o slie B i e Jlsw S L3 oy

99 ATFAT
Problem Figures

_H_gL..:a'J mS_nﬁ.u.l.n

TTTT %j% ITTT !

IS TR ATFea

Answer Figure

A3 5S 5=
—_— | —> > >
—> —_— | — | =
> > — —
—_—a | — - —
A B C D

A. (A)

B. (B)

C. (C)

D. (D)

Answer; C.(C)
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8 I S1dqul ufkwe i Hroarret, @ et (P), (Q) (R), (S) 30T (T) B Urd a1e’ Ay SfIehdM
T HT; IR ATeid Wi ST 1.

P. WM UhAH R dg MUTSi W SHUITUET desiie Hul 30T fi /ol 9ivTel 318 o 31for Rig
G BRadd.

Q. dl U TRH IgTesTdl féad gIdl. uruht fUuarardl Ut Sical dedreides Rig 3for gams ddid.

R. d oA groft fOdrd snfir aar smasmuear Arfar fea S

S. AdHT A Hesd b, MUTS TFTUS! T fohal Gre! @rell TSUar ale UTgd 3MTgd, < ATat
EECICIRRI

T. 107 31eft Uroft IR Arae a1 a1l SM1f0T dgH SR gH JIUARITA! o YISIdes Yied, dag] i
&1 317 fob =araR fiers eired.

TREHAT HedHaR WTeiede! oiord arad faar SRd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The lion and the boar then decide that it was best to make up and be friends than fight and become
food for vultures.

Q. It was a hot summer day. A lion and a boar reach a small water body for a drink.

R. They drink the water together and go their ways after.

S. Soon they realize that the vultures are waiting for one or both of them to fall, to feast on them.

T. After arguing and fighting about who should drink first, they get tired and stop for breath, when they
notice vultures above.

Which of the following should be the THIRD sentence after rearrangement?

ostex b o) 1y (P)e (Q)¢ (R)6 (S) sl (T) ushh s =8 208 2 ey ¢ S i o Jgs ) Sl | ym cae by S
s S

P o sy el os e Spham S olea) o b nla S0 55 58 (Y SIS alad 0 su sl il

Q. i i b e sl s W S e S8,

R, 8 J% o s 2 4 sl b e s S5,

S. S S S 55 (SU by S sl AS (i b Sl ail 08 S 15 (il gl sl

T W W ol S a8 S eSn Jggdlcn B I S )yl R Sd gy cmany S 5SS 8Y 40 S5

§ s U i alea L g€ amy S 53 am yio sl g

AS
A.S
A.S

B.P
B.P
B.P

c.Q
c.Q
c.Q
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Answer:

Answer:

Answer:

D.T
D.T
D.T

AS
A.S
A.S

Wedte! g e HIod ?

ATF TEH e TaueTiET e B .
B.UST A8 Jo GaueHiT Terer d foa.

C.UH] A8 HaATd YaueTi=1 Temerd B f&a.

D.UehT T8 ol GqHT=i=T Jerard Bd fad.

B.UehT TgTH Ja™ Gawe=i-1 arerd Bd fad.

AT
BT

C.uc

DT
D30T

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addai4

7

11

Answer:

ST el Uy Uy fogr=at (?) ST I Siars! Jod I 8472
(2940+34-12)x5 =?
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DIRECTIONS: What approximate value should come in the place of question mark (?) in the following
equations.

(2940+34-12)x5 =?

B 51 iy misedi L 058y B (S (2) i Sl pms e s b mn e 2yl -
(2940+34-12)x5 =?

A.400
A.400
A.400

B.450
B.450
B.450

C.375
C.375
C.375

D.464
D.464
D.464

C.375
C.375
C.375
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12

Answer:

13

faem:

TP HTeIS TS <TaT Fel 3R P wTa! faemaft usufie aRe 3.

FHrEl BR:
|. TTATIh I+t UYufieT g Uigu.

II. UTeATgeh ) Feiftid faemaffasg HoR HRars Fell uea.

Statement:

A college professor claims that some students have stolen the question paper.

Course of actions:

I. The professor should change the question paper.
Il. The professor should take strict actions against the concerned students

ok

=W S et eliheaS S LS 5sed I sy oS S

Jae AaiY:
| zuls Wy S doasd aa y (Alatial S puidg

||.db‘fjs‘f\leSQMuv\Aé¢ULdﬂAJSHJﬁ.

AThEd | 3HEH 38
A.Only | follows

A Cipal| & &Y

B.Tad |1 3R B 3]
B.Only Il follows

B. Cijea |l & 5 &Y

C.UDHR | fobval 11 STEREA 318
C.Either I or Il follows
ColLI & 5 Y S e

D.| faT 1| SEI0P! BTele! STERUT B Aol

D.Neither | nor Il follows
D. 1 osh 18 5 G KY o2 (P5S — Ue

AThad | 3HEH 38
A.Only | follows

A Cipal B u &Y

qUTSITE! AT HROMRT -
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C . gHSAdH
D . gHSAfIHT
Answer: C.HTH\_:I@T:W
14 (1296)"4 =2

(1296)V4 =2

(1296)"4 =2

A4
A4
A4

B.8
B.8
B.8

C.2
C.2
C.2

D.6
D.6
D.6

Answer: D.6
D.6
D.6

15 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
One should look ahead for success.

A.anticipate
B.disregard
C.neglect

D.overlook

Answer: A.anticipate
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16 ARl I S1ed 3ime:-

Penicillin is extracted from:-

e s YISG Dty

ARard
A.Algae
A =S

B.R=M

B.Fungus
B.o&s

C.gx
C.Yeast

C.onea

D.alls%hdl
D.Lichen

D.osd

Answer: B.gRR |

B.Fungus
B.o&s

17 e ST UhHA Uh HTs BIGUATd 3MTd, R HIead Hrs HIMTE ST YHTedT Hle.

If a card is drawn from a pack of cards, then find the probability that the card drawn is a spade or an
honour.

= 0o b L S el IS SIS A8 (S B S Ol Gl e 8 g s e S S TSI S Q)

A.25/52
A.25/52
A.25/52

B.24/52
B.24/52
B.24/52

C.11/16
C.11/16
C.11/16
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D.23/52
D.23/52
D.23/52

Answer: A.25/52
A.25/52
A.25/52

18 LI W uyiae e gatardeT Seftid sieR/Rsaie s,
[k e =

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Milk: Liter ::
.ug‘)Sg_x;:\M‘)m/Lﬂ/u‘);,\ﬂdncmd.ﬁbﬁac‘édd (ot ) g () A e 1Chew

Adiasga

AR IAdbC
A.Distance:Second
A“:US*-\HA-A\A

B.d&-Hlex
B.Time:Meter
B. S

C.diges:fharmm
C.Rice:Kilogram
C.e\)gj-‘sid}\%

D.goH:dleR
D.Weight: Liter
D. Akos

Answer: C.diges:farmg
C.Rice:Kilogram
C.ebgjxsid}\e
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19

Answer:

20

Answer:
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Ao 15 e SRR GEard ovat ST df AT A =T 3/2 A e aredl draadrd 5 e

el UigreT, =T YT M HIaraeh Blel.

Manoj started 15 minutes late and by travelling at a speed which is 3/2th of his usual speed reached his

office 5 Minutes early, what is the usual time of his journey?

S Sl elaig iy da G5 g S8 eyl S aaB3/2 Sl asee sl WS le] u i Qe 15 Sz e

oS Gy agee S

A.60 fafAe
A.60 minute
A.60 Cie

B.30 fifHe
B.30 minute
B.30 &

c.40 fafae
C.40 minute
C.40 &

D.75 fAfAe
D.75 minute
D.75 &

A.60 fafAe
A.60 minute
A.60 Cie

Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.

A.Milenium

B.Migration

C.Mischievous

D.Momentum

A.Milenium
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21 I Wl fededn faum (A) Sfor HRU (R) I1SY, Wreid Ut 3 vty fAge:

faem (A): ST HERE GHUSTR BUH fesw@d S
gr\rm (R): SHIGHHAL T TH grl.

DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from the
following:

Assertion (A): Denmark is known as land of midnight sun.
Reason (R): The sunrise happens first in Denmark.

Ol 28 i 2 10l (A) Ll (R) 018 isie doie g (e i ot o ) Sy

Gml(A): - bl Ula sk S (e (S gosm =S Sl ol S S il
~5 (R) - = s g sth o Solaid gy o s ) g

AT (A) ST (R) T 3Ted 3T (R) (A) T AT TINS5
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A. (A) 03 (R) us) o s 05152 (R) (A) 2 Seslias a2 (S

B.aIg! (A) ST (R) W 313, TG (R) (A) T AT TBIHRUT TG
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B. (A) Ls (R) o5 cum gusaa U550 (R) (A) = o Salia g a3 (S

C.(A) 4 3118, I (R) EI< 318
C.(A) is true, but (R) is false

C. (A) 8= mna (R) Bl
D.(A) Ie 3118, T (R) T 378
D.(A) is false, but (R) is true

D. (A) ¢z bl (R) = o

N

Answer: D.(A) @i 3118, W (R) I 3T
D.(A) is false, but (R) is true

D. (A) S« =Bl (R) = qona

22 . SiegT STIQT §1 M GO ST Jekiien TR aTiR HRar 3rear uRfydia simaur arg givarargs &3
TBUMR?

When your boss exercises his powers with an altitude of malice how would you avoid confrontation
under this condition?

§ S S R S S Ll ISl G (e Gl gl 58— U S Jlantid gl S Jlaigl oS cilla ) (s 1S O s
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A. 3901 Bt IR U1 T Hdkird dREd A& 93 SATIaT T Rid HRUR

A.You become furious but crumble down your emotions due to the superiority of the person
A S 0l S lia il Gl saas (S A5 S padd S S il s et G

B. 31U SGdT YUAIRITS! ATl 3R ARUATH [aaR HRUIR
B.You think to kill him to take revenge

B.ow Saswome o b S Sl J S Ay Gl

C.3{TI0] Hed-T FRUIR fob <d TE AT dTac HeTat =18 IR
C.You imagine that god must give him punishment for his untrue act
C.8u psma m A Sdee hle S Gl o (0l 133 S G 58 ) geal

D.3{T90T ]UY 3, s ST gEUUNEAT STATHUU FHRUR T4l
D.You keep promise not to surrender against the wickedness.
D. =S s U om A S Su A8 5 S Seae 5 o,

Answer: D.3{Tq0T ]10Y U3, fds ST GEUUITAT STHATHUT FRUTR TG
D.You keep promise not to surrender against the wickedness.
D. S sSen U w3 S (S0 oS o) S Seey g,

23 dIue I Yeara favgTdf 2eg HIordr 2

A TRIS
B. e
CIrite
D.Fdrdt

Answer: ATIRS

24 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
The sides of the box came apart while opening it.

A.got united
B.got separated
C.got repaired

D.disappeared

Answer: B.got separated
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Answer:

26

SiegT TUUT SARiNIEd SIaeR HRd 3!, 3T =M U Hdl-

8 U A efTe SHGIId Ha&un 3
is a neurological birth syndrome

= st iy lac) SO

A ST RigH

A.Down syndrome
A.psodis Ol

B. s T RigH

B.Fragile X syndrome
B.ps v (89l Jilay 8

C. T Uit

C.Cerebral palsy
C.oa ela

D.TGIY (RNGIHRTR 3UHTd)

D.CVA (Cerebrovascular accident)
D.Adals By tlad) o) 55 (o)

C. T Uit

C.Cerebral palsy
C. & el

When you deal with others, you expect that—

S on S @5 Gl 5 on 8 CBlas g Gl a—

A STUTH G DIgPH B YUIRITS! o U] GHTATTIR TTGR HRUR
A.They deal according to your nature in order to get your appreciation
Ao S Gldae S ol (S e o S S deala e (SO

B. 31U Thad Jdfd deR A&Td 3aUIR ATRIR § guTd Aldua g SiTdid

GET IT ON
Google Play

B.You restore only superficial dealings otherwise it becomes a sad affair of relations

B. - lils 0 sl Slied S iy o niys o 58 i oS O llas Jsena e Cipea

C..3{TI0T XGd: BT WGHTAT e A&fTd UgT SRl SfETol AUk
C.You estimate others with reference to your own behavior

C.om S8 S S bl nmgy il o)l S gy S Gymss &



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

e

7

Answer:

27

Answer:

D300 J@Id R e Helad 312 aig

D.You do not develop deep intimacy
D. 58 G sl 3l 2 &

C.3{TqUT X9d: g1 WHTAT Mg A&l Uq SRl 3igTel ArauiR
C.You estimate others with reference to your own behavior
C.uy S8 S S Gl amsy il o 3ail S gy S g st &

GET IT ON
Google Play

farel sreaaed : fag + 3 x, I8 oS 2 M8 ; TR 16 x 8+ 2 Hed fohcht 2

Given interchanges: signs + and x, and numbers 2 and 8; then the value of 16 x 8 + 2 is

dabﬁé2+8x16}3§8J}\2JgAJJ\chJ|+Qu)@:éa\.ﬁc‘@(__‘gq

A.72
A72
A.72

B.48
B.48
B.48

C.64
C.64
Cc.64

D.16
D.16
D.16

C.64
C.64
C.64
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28

Answer:

GET IT ON
Google Play

G : Wit U UHTd G faam | ofor 11 faeia 3. 8 faum Thear Wdd SRUT 3 Jebdrd fdval Wad
HRUM RO 3R IHdTd. TiUH! U fGUM SR AT uRomT e[y W), Tie! e ardT T

WefAUD! HIUIT ITRIET U 7 gl faummeRa Sayi= guie Hdl o a3l

fqum
|. TIRERT TATYUTe T &R QU SIRd 3Te.
II. R Ifgardt Afgaiten I3y I SR JHard.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer

choice correctly depicts the relationship between these two statements.

Statements:
I. The rate of female foeticide is exceptionally high in the locality.

Il. The individuals of the locality consider males to be better than females.

Sl 53 O dVsms o 28 1bla | o) 11T 5 by o 8 00l o s 5 D8 S lsa s 331 ey b Slosas 315
O A S Qa8 8 0 2 AS (S Alead gl a5y bl (ssn o S 5 311S 2 s (lay Sl s (e iy

o US Sad S b e o S iy Gsi

il
| — = oal) G an Jsern pee 7 55 (S (38 opia (S €3 e e
Il -on Senam 65w usiose S usamdl 8 S _8le .

AfSum | HRUT 37 3foT faem 1| = aivome 3re:

A.Statement | is the cause and statement Il is its effect;
A g | wd gl sl 2 sl -2 TS Gl

B.f3em 1| HRUT 3i1g 3MfvT faem | = afkony 3rre;
B.Statement Il is the cause and statement | is its effect;
B.owi gl Il soei Ol o5l s |- AV S

C.TaYT | 31107 11 ST Wi HRUN 3R,

C.Both the statements | and Il are independent causes;
C. el Glily 5353 | sl sl 1o g A1

D.faem | 311f01 11 S8 Xads HRUM TR 317gd;
D.Both the statements | and Il are effects of independent causes;
D. s Sl G sisa | el sl 1] - S S iligm s 31

B.lau™ 1| wRUT 3 31for faem= | @ uRkomd 31g;

B.Statement Il is the cause and statement | is its effect;
B.ow gl 1l s Ol sl o mas -2 3 S
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29

Answer:

30

GET IT ON
Google Play

fag A g1 foig B =1 37 5 1. aR 317g. foig B &1 feig ¢ = ufny 8 . oR 31rg. foig D &1 fdg ¢ = aféo
4 T TR 3. fig E g1 Tdg A =1 qdw 4 . &R 311e. foig F 81 fdg B 9 foig ¢ =1 79 o=m a1 oifg &1 fag

B, C d F dfdll ¥Red ¥ AR gld. fig A A foig D divren fa= sime?

Point A is 5m to the north of point B. Point B is 8m to the west of point C. Point D is 4m to the south of
point C. Point E is 4m to the east of point A. Point F is exactly midway between point B and C in such a
way that point B, C and F form a straight line. In which direction is point D with respect to point A?

G gy A Sl gy Bt g3 - o leald S fe 5w B il 5y Gl g - 2 (e @ yre e 8 —u D Gl 5y C e sin S
Gl gy - o g sl S S 4 B Qi gy ACul gy - o gy el S e 4 (e 3k SFe il 9 B sl C gl n I S
Gl 5y nS o sz sl el 0 B sl C sl F Qs si-0m o) T e 8 (A Dl 5 Jilaally S A S 2 (e Coans (S

A feror afgm
A.South West
A Cgia

B.af&or gd
B.South East
B.3 e i

C. 3R Ui
C.North West
C.ome Jles

D.af&rm
D.South
D.esa

B.af&mr gd
B.South East
B.3 e g

3@@1 ArfelhaT 7 BIaT:
6,5,2,6,7,10

Find the mean of the given series:

6,5,2,6,7,10

€ 5 (O] o) 1S e 50 52
6,5 2,6,7,10

A7
A7
A7

B.6
B.6
B.6
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31

Answer:

32

C.8
C.8
C.8

D.9
D.9
D.9

B.6
B.6
B.6

IGT6 TEAT 20T,
Find the missing number.

[3]5]8]13[22]7]

A. 35
B. 39
C. 30

D. 43

B. 39

T fedien waiameyE ave o fAdeT.

DIRECTIONS: Choose the odd one out from the given alternatives.

i S 5 ot o e e K o rian

A.ONMKJ
A.ONMKJ
A.ONMKJ

B.UTSQP
B.UTSQP
B.UTSQP

C.IHGED
C.IHGED
C.IHGED

GET IT ON
Google Play
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33

Answer:

34

D.ZYXTS
D.ZYXTS
D.ZYXTS

D.ZYXTS
D.ZYXTS
D.ZYXTS

YRATAT HALTHT=AT 9Ul SfagMTdia aid aIguRd JUROM 81 37T

GET IT ON
Google Play

The most controversial amendment in the entire history of India constitution is:

= e~ Sle edl ) o e Gl s S O S @ le

A.41T)
A41st
A410 s

B.424%
B.42nd
B.42,5

C.43dt
C.43rd
C.430)5

D.444dt
D.44th
D.440)s

B.42dt
B.42nd
B.420 s

DIV RIERTAT T[aTsl! RIEY T 0TS SiTcl?
Which city is known as the ‘Pink City’?

2l Ul ol S g8 G 8L 05

AR
A.Jodhpur

A s,
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35

Answer:

B.SIOYR
B.Jaipur

B.oss

C.IHRIGHR
C.Jamshedpur
C.os 2iea

D.3cdyX
D.Udaipur

D_J}#ﬂ.ﬁ\

B.SIOR
B.Jaipur

B._sus

YIS LaT: TelTel AT goi .
QT,OR,MP, ____IL

DIRECTION: Complete the following series.
QT,OR,MP, ____IL

-0 S deSe S e i el S ) g

QT, OR, MP, IL

A.BY
A.BY
A.BY

B.KN
B.KN
B.KN

C.YN
C.YN
C.YN

D.HQ
D.HQ
D.HQ

B.KN
B.KN
B.KN

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addai4

36

Answer:

37

GET IT ON
Google Play

S TR ATl 225 378 SHTIO1 el H41dl 5 3178, SR Th S-T 25 3, TR gOR] S BT 3d?

LCM of two numbers is 225 and their HCF is 5. If one number is 25, the other number will be?

$S s i s 56,225 e Sy S5 5 Gl pu gl SO sl =225 al o di) S Ui 50

A5
A5
A5

B.25
B.25
B.25

C.45
C.45
C.45

D.225
D.225
D.225

C.45
C.45
C.45

MTEAUe ! IO T fISTOeSs grar?
Which of the following disease is caused by virus?

S s s S s oben (S o e 2D A ke

A feTdifear
A.Diphtheria
AL s

B.w

B.Plague
B.oselh

C.&RRIMT

C.Tuberculosis
C.dw
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D.hisugr

D.Chicken Pox

D. S

Answer: D.hisugr

D.Chicken Pox

D. S

38

DIRECTIONS: Find the odd from the given four figures.

qaan: feeear IrideT Sl (37Hag) HOmd HiEd A= el

S AW ke i (o susbed 4 o Ss il

GET IT ON
Google Play

+

~t

7

Answer: C.(©)

B

C

D

39 4 YT R ST ST Tt WG S1fiid I TedT do THL X1l XM U HRId SRIciel aredt &l

318

4 Year old Shamu is now better able to empathize with his friends feelings. This growing ability that
Shamu is acquiring is

4ajdgjﬁh\yucunugl:ﬂé\jc\aj.\/\:a.d\:\&.nwu}s&um‘éu\.\;\ﬁujdd\cjﬁsdddﬁw\yuxdu

=

A TG-Hh AT
A.self-concept
A~ hilCaa

B.A Rigid

B.theory of mind
B.ki €
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C.schema

C.~A\

D.Jgit

D.temperament

D.claa

Answer: B.HAT=I RIgid
B.theory of mind
Bk S b

GET IT ON
Google Play

40 LI ATUDT DIV TPl THHE AR i eq e SR AT STARIT G-idd?

Wesrg, Tt anfor geit

DIRECTIONS: Which of the following figures represents the best relationship among the three terms

used in the question?
Players, Students and Girls

Sailar (S st o s e s S8 i s s Jlasiad (e Y g 3 7 2 &l SIS o 08— (e i aa ety
=X

OS3Y s) elilla (s 5MeS

(A)

Answer:

(8]

(8]
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41

Answer:

42

YR YTTGRT, g 31101 gaTH S HAl HIvT 3ed?
Who is the minister of Environment, Forest & Climate Change of India?

O YN e ause ) OGS llsala s

AT 3RY
A.Jual Oram
Aaos s

B.3T. 8Y gt
B.Dr. Harsh Vardhan
B.opas i SIS

C.y¥g gy
C.Dharmendra Pradhan
C.olea p e

D IS g
D.Rajnath Singh
D.¢%i gilial

B.31. gY gt
B.Dr. Harsh Vardhan
B.o#s Ul ASIS

GET IT ON
Google Play

OTd A, M 8T K 30T T UefT SIRd aoiGR 318, B 81 T 3M1f01 P &l aoHM 80! 38, K g1 Jafd gad!

EY. TR AT Fafd g HIUT 2

Among five students M is heavier than K and T. B is lighter than T and P. K is not the lightest. Who
among them is the lightest?

o s @R MK I T oile oo BT 09 P oS o KIS B e 08 v e U 0 B o

AK
AK
AK

B.B
B.B
B.B

CT
C.T
C.T
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D.3igd) el

D.Data inadequate
D. 380 s

Answer: B.B
B.B
B.B

GET IT ON
Google Play

AT WIS 921 TR FIATEAT IR HOTAT gra@faedn 3ed. 9eard [aarere Megrear fasgy

DIRECTIONS: In the following questions four positions of the same dice are shown. Select the symbol opposite to

wee Jlsw o5 bz - e L\‘_,f 2 lg%s i g waline Sl 28 sl o0 Sl pee wVlgw L3 ep s telilse

43
arstel F1oT e IRe?
the symbol as asked in the question.
oS saniie Qi puSs p S olisi = S lgzss
5 75/ = °
4
e & | 5 4 4 ¥
e
W 0] = W
o a1 Fegredn Ty arsien ®1oTd fbeg 3 e?
Which symbol will be opposite to symbol © 7
fo lf_gagmuu_gsui&;_ﬂ«_&ulau
(C)
(D)5
Answer:

44 AP TIR HROAMNTST 28 Fift FHsar srqaieht R ardsaa e, A ST afesTean ahes T TUIR Hle.

A circular wire of radius 28 cm is bent to form a square, find out the ratio of areas of the square to that
of the circle.

E}&"‘}SWL‘SCSJJCS@‘)ALS‘L)‘ML)‘"g'\}:‘\j}“:‘:‘lé:b‘@)“—g‘:“‘)@;—‘*‘285‘)“36‘)‘5&#““—&‘%‘

S
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A.21:28
A.21:28
A.21:28

B.14:15
B.14:15
B.14:15

C.20:21
C.20:21
C.20:21

D.11:14
D.11:14
D.11:14

Answer: D.11:14
D.11:14
D.11:14

GET IT ON
Google Play

45 DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in

meaning to the underlined word from the given options.

Birds are abundant in the tall vegetation.

A.Scanty
B.Plentiful
C.Copious

D.Ample

Answer: A.Scanty

46

Answer:

T 1 Veardl [aeg 1l Wed Hiorar 2

ASTOT
B.3RA

c fadls

D &R

D.dgARM A
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47

Answer:

Choose the word which is opposite in meaning to the given word.

FLOOD

A.Drought
B.Outpouring
C.Abundance

D.Overflow

A.Drought

GET IT ON
Google Play

48 Wi Ul Widhs Sl GRIGH Ueb Jor i TUId, “di 31 Jard! 317% 3MTg, SATd daid HTe HTS, 318", 7 &

el T Iered Ald Hr?

Pointing to a lady in a photograph a girl said, "She is the mother of the boy, whose father is my brother".

How is the girl related to that lady ?

WS e ol 8 (ST o Sl one Gl Baae o gle S SOV " LS 0 (S S S0 5Ll cajha (S e (e el
T AL

INCHL

A.Sister

A.or

B.gqult

B.Niece
B..~fe

C.gad dsiul

C.Cousin
Caybs

D Aeguft

D.Sister-in-law
D.\

Answer: D.ﬁ%ﬂﬂ

D.Sister-in-law
D.o%
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49 LT WMl fGaiedT UHTd Ueb e $iTg ST | 31707 11 3R g Feah s et ifdhd ohaiet SMTed. a1 TR
Yatd g yafg FHaer.

faem:

WWWH@W@E@@WWMM%WWWWWW
oW, THRITT BT el Mg,

fsm:
|. T UTSUdTSTHE GV 3R,
|I. BT UTSY TMe o) Fafid HRudrd JUIR goKiTd BT T, 318,

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and II.
Based on this choose the option that is most suitable.

Statement:
The repair works are being carried on the main water line of the city. Because of this water supply to the
city will be reduced by 75 percent.

Conclusions:
I. There is a fault in the main line.
Il. The routine repair work is being carried on theline.

g0 amy S ol Sl ae Vs 28 0 i bl | ) ] - S Qi S il s 3se Sl ol S ol oom K o
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A.Only Conclusion | follows
Aaii Gapa | & 5 LY
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B.Only Conclusions Il follows
B. ~xii o pua || & 50 &Y
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C.Either | or Il follows
C.lLIE 5 &Y Sy s (e

D.PIUATE! fAshe rae e
D.Both | and Il follow
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Answer: D.ﬁﬂﬁﬂﬁ A S Arat
D.Both I and Il follow

D.los - R os SY Ui

50 T U URATA U U4 fAURIad IR faU™ 3Ted Saf=arare! A, B, C 30T D 31 R fau™ 31ea.
HHIR fquH Sie! HaeT same wud faum ga=an faumrar gaad, $iftT aiel fau™ afbamesear e
faereed fAfed sre.

81 B TR Uie T 3iTg fohdl ST 3118,
A. BT I UiexT 38,
B. 81 BIH Ui ATal.
C. 81 B BT 3G,
D. 81 B 13T T8l

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

This phone is either white or black
A. This phone is white

B. This phone is not white

C. This phone is black

D. This phone is not black
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A.BD
A.BD
A.BD

B.DA
B.DA
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C.CA
C.CA
C.CA

D.AB
D.AB
D.AB
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B.DA
B.DA
51 WA 3R TG DI ?
A JITHIT
B.dSidwl
C.doldER
D.deddid
Answer: SSICE
52
A. (A)
B. (B)
C. (C)
D. (D)
Answer:  A. (A)
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A person with drawing socially & becoming totally focused on own ideas and fantasies
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A IS ATIR YUTRT

A.Social withdrawal
Al s alew

SRECHERIE]
B.Avohtion
B.<al 5a

C.3aIRA /el
C.Depression
C.oxi s

D. IRBIRS YHIT Tl

D.Flat effect
D Culs

A gTHIRSI% HTER YUMRT

A.Social withdrawal
A-cs“‘;’\J >lens
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55 TTeidl el decl hHH Aisull He @il feaiedn faaTaaYyd HIordm 3rigul HH sid?

1. Seia ATl
2. Hef Hef
3. g
4. 3D

5. qgHE

Which one of the given responses would be a meaningful order of the following words in ascending
order?

1. Never

2. Sometimes
3. Generally
4. Suddenly
5. Always

S i e e S LBl i e Sl LS s (e a8 00 e i i G a5
1. o S

2. o8 S

3. noshele

4, Sils)

5. M

A5,2,1,3,4
A5,2,1,3,4
A5,2,1,3,4

B.5, 2,4, 3,1
B.5, 2,4, 3,1
B.5, 2,4, 3,1

C5,3,2,1,4
C53,2,1,4
C5,3,2,1,4

D.5,3,2,4,1
D5, 3,2, 4,1
D.5,3,2,4,1

Answer: D.5, 3, 2,4, 1
D.5,3,2 4,1
D5, 3,2,4,1
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ST I 21 A BT ST g UeRTAT SHHIBIAR R B IoTdidg AT RIFGR 3Tg. TR A 3101 B ai=ams
fobell goi 3iTed 2

In a row of 21 boys, A is fifteenth from the left and B is fourth from the right. How Many boys are there
between A and B?

21 o S S OSTA L3l eshothy woile B e S 2 Wisy e i A )yl B S e S

A2
A2
A.2

B.3
B.3
B.3

C5
C.5
C.5

D.4
D.4
D.4

A2
A2
A.2

i adf 2008 ot feTeRieT go1 amRed ssa?

In which year the calendar of 2008 will be used again?

S8 g Jlasind) vy L3S 2008 Jlw S

A.2017
A.2017
A.2017

B.2018
B.2018
B.2018

C.2020
C.2020
C.2020
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D.2036
D.2036
D.2036

D.2036
D.2036
D.2036

SR g@iar g aoid 72 fhaumm efid @), ISR gHd do favd! 3rid?

If your weight on earth is 72 kg, what would be your weight on moon?

S5 W () Sl pails 6 ol SAST72 0358 G o) S

A.72 fHammm
A.72 kg
A72 2 K s

B.12 feammm
B.12 kg
B.12 al s

C.124 framm
C.124kg
C.124 o Sis

D.24 f&ammm
D.24 kg
D.24 o Sl

B.12 fhaum
B.12 kg
B.12 oSS

S 31U fAYITUREA YaTdhe STd ol o el
As we go from the equator to the poles, the value of g:

50w S (d5) o S S Gl oS o (SsS)) sl Bl oy in g sk IS:

INGEREG]

A.Remains the same
A= G ) S o
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B.algd

B.Increases
B.— Ul al

C.¥ed

C.Decreases
C.zls nes

D. a0 Thg! ATel

D.None of these

D.osd &8 o O

B.aled

B.Increases
B.—llaal
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U1 i1y Gidsfas YA, SR PLATINUM BT R1sg AIUPLTNM 31T %edeg ohdl Sid 3d,

ADVENTURE BT ¥eq T HTNd HHT Heaeg sl Sigd?

In a certain code language, if the word PLATINUM is coded as AIUPLTNM, then how is the word

ADVENTURE coded in that language?

Ll &g ) S b pa sade So) PLATINUM S AIUPLTNME (ae 0l o9l 5 ¢ = Uil &SI ADVENTURE

FE AL S S

A.AEEUDNRTV
A.AEEUDNRTV
A.AEEUDNRTV

B.ADEENRTUV
B.ADEENRTUV
B.ADEENRTUV

C.AEUEDNTVR
C.AEUEDNTVR
C.AEUEDNTVR

D.AEUEDVNTR
D.AEUEDVNTR
D.AEUEDVNTR

D.AEUEDVNTR
D.AEUEDVNTR
D.AEUEDVNTR
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61 HeRATA Ui SATIOT BRI OMTR 3 - 2 3T SiagT 10 fores Y1 STex Bl oiTd degT TedT S
HRIMH 2Tl S1d, 8 TUIRR 2 : 3 §d. dhe-RAH o o g fabdt eig?

The ratio of petrol and kerosene in the container is 3 : 2 when 10 liters of the mixture is taken out and is
repalced by the kerosene, the ratio become 2 : 3. The total quantity of the mixture in the container is

556 Ul WIS a8 B (S ol gl o Ul VUG 5 S e 1S S0 10 a2 2 0 3 i 1S Cnns S ol U 5 (e L3S
= LS e sana (S S je (pe TS Ul 03 1 2 il

A.25
A.25
A.25

B.30
B.30
B.30

C.45
C.45
C.45

D.fAf3d Fd IS Tpd ATEL

D.Can’t be determined
D.USws 53 s aslae

Answer: B.30
B.30
B.30

62 A Dot RIgfb MU R e Wisid a14] MBI oa "rerdrd, SHTau eal JT FHeTe TR eI

Suppose a few teachers are busy in cracking filthy jokes during their leisure time in school, you are also
member of that group

O ot e g pean e ey S Bl 2 3K ()50 S s s sl ed pll i) xSl aXilal ¢3S AS (3 S s
xR ) é ‘—')Jg

A.3TT0T i1 31T RepreT 9o Wreitet fa=Idt METed 9 grelq b1 & GHSIdudTd Wid HRUR

A.You persuade them not to waste their leisure time in filthy jokes
A S~ i e (3130 10K S g 1S o i AS g S B S o G

B.31TUUT TT¢ JAUIR fohal Uehe JGUIR HRUT TYITT o Ued ATl
B.You change the group or live in isolation because you don't relish it
B.oy =S U b ) G A0S G i) ope S L ow S deai S s K

C. XM faHIg HRAMT TUT HIST HH STUITT TR

C.You instruct them to mind their language while cracking jokes in school
C.uSyume sl S L) Sl iy 5 S 31 Gae Sl 55 A8 G Sl S o
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D.) 31901 &ebT e 9 i1 AT T ST HTSAU Hed o,
D.You criticize and remind them of their noble profession.
Do =¥ ol (S i malie S 0 Gad) sl o 58 288 5 o)
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A.3TT i1 31Tl R de Wreitet faqIdt MyTaed ara gTeiq A1 & GHSIqudTd Td HRUR

A.You persuade them not to waste their leisure time in filthy jokes
A S~ i e (3130 10K 0 g 1S o i AS g 5 S BB S o G

When you develop intense conflicts with your friend, the most suitable option in this case may be—

Asd‘;\h):lM&‘)}ak_\uhAbJ\Jw‘)Cuk_\uwc‘A\Mw\}3‘%&Jt})ﬁ}s&b‘)hﬁ%M@héﬁ&u})d‘%‘“

A T gUIIO! galfard el

A.Neglect him absolutely
ALS Sl ks JSIL )

B. T U1 Wd: dTex e
B.Withdraw yourself from the scene
Bl —w sl Sl

C.3{IehHD gl d daddl &l
C.Become aggressive and revengeful
Clhla ¥yl Ay sl Mdla s

D.27id &7 AT TR GAfGaR Bl

D.Calm down and re-think on the issue.

D.-la gso s g Alba ol Ly y s p

B. T URATI ¥dd: TR (=41
B.Withdraw yourself from the scene
B.Uk —w ke Sl

ST HT FEHIH JHd CUTd SR IR fdhdl BIgH ered. gl TR Rl HRIT A1d Ta?

Suppose your colleague either commits theft or torn out your postage from school due to jealousy. How

would you overcome this problem?

2 e O QL Sy sl e IS S S5 (Sl iy (S 2in L LS QIS S (55 S el Sl A8 (S (msh

TS Gl sl s
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A 3101 BRI GRIGAT e GhSUIR SHTTOT Te R SR

A.You catch the culprit red-handed and abuse him
Aoy S5S (Soled gl on 550w oseh S

B.Tdd T YST RIGAUIRITST 39U AT U HISUIET Yd HRUMR
B.You try to take a revenge by tearing his letters just to teach him a lesson
B. = S S Gaw il pane 8 (0 S GRS S Sl plil il S Slepbghad Sl G

C.UHaI 3TIU ATel Uh g d HAR AT Jdauit 4
C.Once you catch him and warn him severely

D. 3100 YaiGHR ARt g H

D.You insult him in public.
D. 22 (S Ji (S Gl el se .

Answer: C.U&al U ATl UH G d HER XGd Idaull &3
C.Once you catch him and warn him severely
Cuow 20 Sl o s ol 5l 0 55 ol Gl e

65 SR 3T 3T GURTT SoaT YT SHTUTET ST, YT Y 1A d3d STl Siauardl Ugd HRiT AGUR?
If you take your mid-day meal to school, what will be your mode of taking meal during recess hour?

I8 53 Ayl LS IS _SleS UleS () 0 S 518 O 8o s Il LS S o 330 Wl Gpe J Sl il 8

A.3MTUUT AU SqUl SARTHL WA dTeUIR BRUT SaRid WidUl § SIBR 35

A.You share your meal with others because other’s food is tastier
Ao D AR UL IS o g S0 sS G TS LS il S (im0 G

B.3MTUUT 3TUHT FFEiad B IMHed SIguMR

B.You take food with your friend in canteen
B.S sla s GBS WS il Sy 1

C. 30T HIfIP FEIYAT g Jgfade HIaTHS Siau Tahe BUIR

C.You take food in isolation due to family customs and personal inhibitions

D.3{TT0T 3TUed YeHTa T U SIaul ATeuiR § MUl SHEried ardT g SuR
D.You share your food with all the staff- members and enjoy it in your group
D.us sl Calal e s K ) sl 0 )S Sl gl S Lee ol 1S S il o

Answer: D.3{TUN 3T VEHRGIET IS SIG0T AICUIR g YT THERNEd I 3¢ YR
D.You share your food with all the staff- members and enjoy it in your group
D.us s Calal e s K il 55l G )S Sl gl S Lae ol IS _leS )
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66 T YD URATAT U T faUMriiad IR faem™ sgd Sai=amardl A, B, C 3101 D 3 IR faum™ siie.
HHIR faumTdt SISt FasT Same v fau™ gu=a e gaad, ST el faum dfhdmesear vE
faeread fAfed s

<t o fhar RISy gt T .
A. fo o Ha.

B. fam an7 & A=Y,

C. fo? Wifeaw .

D. fom Wifsag »at A1gY.

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

She does either yoga or aerobics
A. She did yoga

B. She did not do yoga

C. She did aerobics

D. She did not do aerobics

in S OsSes Sluie paand g R Sl S 63 ) ue e ) e s an S o ales Sl G Vs syl
op Githe S ol S e Bhie lea 53 Hl by S el gl (S Alea o pugd Abea Sy (L

S b 2SSl
A By -

BLS (aet Bp 5 0l -

CS oS S0l -

DS L oS 2ol -

A.BD
A.BD
A.BD

B.DA
B.DA
B.DA

C.CA
C.CA
C.CA

D.AB
D.AB
D.AB

Answer: B.DA
B.DA
B.DA
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HRY HS § 719 g1 &= FAId 3R

Mahesh Bhatt is a well - known name in the field of -

ISV Fafd B30T ePh 3HRd-

The most difficult attitudes to change are

O S o IShe s e S i

A TERIAS O GHRIHAD PRI
A.Negative & positive attitudes
A ) Cuia ) Sdie

B.CIBTT ST Hegadl e

B.Extreme & central attitudes
B. =250 6 S e o) pad

C.FH! dig 3nfor aRkefi

C.Less extreme & peripheral
Clme sl mad oS

D. <Y 30T Ui

D.Simple & multiple
D. saliall iS55l ale

B.AIbTT T Hemadf e¥eH

B.Extreme & central attitudes
B. 250 S e o) pad

= 4l Ule Uila oS0 gy (e

AXISIHRIT
A.Politics
Ao Qb

B.fege-fAfid

GET IT ON
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B.Movie — making

C.gd
C.Music
C.ume R se

D. g1 Tfchadt

D.Social Activism
D.uw dS S male cld
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B.femue-fAffh

B.Movie — making

GET IT ON
Google Play

I 1 UAS YD TreTa A 3nfor B 3r=ft 31 faem faaredt smg emfor (1) snfdr (1) 3 4 fsepd feaat
3{Ted. QI AR Saed kit Jed Aad ail @ed g faUT sRIsR 3fed 3 JHS. @aiade!

HIUT Fh faciedT areaiT HYuiul |1 3118 o 3.

e
A:ﬂa‘wﬁq&n%a.
B: ®Te! UfRTet U 3MTgd.
fAep:

I: g4 U UfeT 3R,
II: 99 U9 PHHTS 3R,

DIRECTION: In each of these questions, you are given two statements A and B followed by two
conclusions (I) and (I1). You have to take the two statements to be true even if they seem to be at
variance from commonly known facts. You are to decide which of the given conclusions definitely

follows from the given statements.

Statements:
A: Some papers are pens.
B: Some pencils are pens.

Conclusions:
I: Some pens are pencils.
II: Some pens are papers.

iy 50 S epe SO s Gz Gslsm Gl A sl B il saam S0 o 8 0 (1) Lsh (1) S G ow 8
C‘SCﬂﬁﬁscz‘ujsﬂj“&é}s‘f]-u}féiﬁu&ﬁé&u‘ejl’-AJj))L?b°}/‘?J§\CT‘U‘)S?;‘X-‘-‘£¢“‘J3}S‘L’U‘I:‘:’U):‘JJ

= U8 Goom S clly 8 oy sk il 05S w e @l

Gl
Ao 8 3218 2
B: -0 all duiy g2

da:
|2 -0 sy pl8 g2
[l. -0 3818 Al gas

ASR Faes sy | fRgd /e

A.If only conclusion | follows
A Cipa] . U S 54Hm

B.SR $da fAwpy || fud /ey

B.If only conclusion Il follows
B <o pa || = B S 55 m
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C.SR aral sy | 3nifon 11 e sraears.
C.If both I and Il follow
C.osislodll-op S8 s

D.SR el sy | 311for 11 fed T«
D.If neither | nor Il follows
D.sinlmll-=Usssm

Answer: C.SR ale! fsmY | 3fon 1| fFad s,
C.If both | and Il follow
Cuosslosl-un S8 s
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UHTE! HaTg UNaebaraed fAufor &dl

An effective communication produces in receiver—

ﬁuﬁ\%waﬁdﬂjﬁh\ﬁjydﬁ\_

A.3{HG
A.Happiness
A S

B. Il

B.Acceptance
B. culyé

C. dieiydd dig=n

C.lts access to other people
C. Gy S ool S K5 K

D.fa=uR 3o
D.Thinking
D. 585,

B. &It

B.Acceptance
B. cul,é

Fill in the blank with the correct article.

My mother is honest woman.

A.an

B.a

GET IT ON
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C.the

D.No article required

Answer: A.an
72

A. (A)

B. (B)

C. (C)

D. (D)
Answer: D. (D)
73

A. (A)
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Answer: D. (D)

74

Answer:

ST Wrefid Trsai<h ZUel Usadp IR ArSuft FH.

(a) Partition
(b) Passion
(c) Parlour
(d) Participate
(e) Particle

GET IT ON
Google Play

DIRECTIONS: Arrange the following words according to the English dictionary.

(a) Partition
(b) Passion
(c) Parlour
(d) Participate
(e) Particle

-0 S e oS Bl 3 s ke (Biae S a5 Kl 1wl

Partition (a)
Passion (b)
Parlour (c)
Participate (d)
Particle (e)

A.(b), (e), (a), (d), (c)
A.(b), (e), (a), (d), (c)
A.(b), (e), (a), (d), (c)

B.(e), (c), (a), (d), (b)
B.(e), (c), (a), (d), (b)
B.(e), (c), (a), (d), (b)

O
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75 T YTATHS BRI Tah d! ThT I el T: R guRid SHiaIia ol fod aiffeur 3 .
An affective disorder in which a person swings from one mood extreme to another is classified as

sk o Sl (S abie ) (Sl = Uls i S LA G pla (g s w Gl SOl 2] WS Gadld Sl e g e Sise S

AJdS
A.Maniac
A5

B. ARy

B.Depression
B.crisl

C.UHYyd!

C.Unipolar
C.ki e

D .faydta

D.Bipolar
D‘;\LB _54

Answer: A.ais'
A.Maniac
A5

76 Out of the given options, choose the one which is the correct passive voice of the sentence given below.
Which newspaper do you read?

A.What is the name of the newspapers that you read?
B.What newspapers are read by you?
C.You read which newspapers?

D.Which newspaper is read by you?

Answer: D.Which newspaper is read by you?
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77 I fediedn waiaieH aTes o fAger.
DIRECTIONS: Choose the odd one out from the given alternatives.

otin S 5 o e e Jolie K 1

AMTSIT fashr
A.Greengrocer
A58 (5

B.Wafdshdl

B.Fruitsellar
B.Jis 8 Je

C.SIhdlcl
C.Postman
C.~SI3

D.gydrel
D.Milkman
D.Ylga34

Answer: C.SIhdldl
C.Postman
C.~SI3
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78 LI T faum it AR g e, | 3for 11 fiet sied. & faem™ amm=aa: 1a agRUciue fid st
TR T SR 3 FHT. fgdeamies! Sl Fpy feaen faumias Ta®! Hledl I3, AHhd! § It
BRAT T8 T IR Jford Bl
faem:
Td yTofl Ue 3Med.
DTa! Uroft A1a 318 d.
fsam:

| TS T Te o,
II. el Y&l A4 3figd.

DIRECTION: Two statements are given following by two conclusions, |, and Il. You have to consider that
statements to be true, even if they seem to be at variance from commonly known facts. You are to
decide which of the given conclusions can definitely be drawn from the given statements. Indicate your
answer.

Statements:
All animals are birds.
Some animals are human beings.

Conclusion:
I. Some human beings are birds.
Il. Some birds are human beings.

wMﬁUMM}JéPm}J:QQHf_ |6J_5\||_t_§ti;4)\.ug'_uﬁa}uﬂmcjéa,\%)§\cdtﬁu&l\m‘)dwuajjsg?ﬂ.
G g L) 0 DS s it s o U S ANl sk (G e e 0pda B 0 Sl (S8 Sl Cu
o S

Ol ekl

=i e b ) gila ald
= = Gl sila gas
il

| = s i oldl g8,
Il =2 Ss bl 2 2 eaS,

Al fosd fRee

A.l follows
Al = BS Cilas

B.Il ey Ao

B.II follows
B.Il = UGS il

c.aral | fdbar 1l ey fAod
C.Both | or 1l follow
C.osis |l sl = S5S Gl

D.I far 1| g} fReomR Argt

D.Neither | nor Il follows
DAl Al oS s
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Answer: C.Eil%l | fdvar 11 Frepd e
C.Both | or Il follow
C.usisnl odll = S8 il

79 T3y, it 3107 Sided i exEd AT SaHRAT GRIGUIRT 3MTdhdt e,
Identify the diagram that best represents the relationship among Males, Husbands and Doctors.

S R iy s s (S e a3 S G5 SIS 5 O 050 sm (S Cialid (S ol U5 Ll

(A)

.00

(D)

Answer:

80 g3 =Y
94736 — 18000 =?

Simplify:
94736 — 18000 =?

ol ol
94736 — 18000= 7?
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Answer:

81

Answer:

A112736
A 112736
A 112736

B.112000
B.112000
B.112000

C.70000
C.70000
C.70000

D.76736
D.76736
D.76736

D.76736
D.76736
D.76736

IET Tichd GO YT -

Animal(s) which is/are active at night -

opdedcd; Sl s psila -

AYSS
A.Owl
A

B.3aR
B.Rat
B.ls>

C3Rb

C.Cockroach
C.zsAs

D. Ut Id
D.All the above
D. YL a2 ew

D. Ut Id
D.All the above
D. YL ~a aia alad

GET IT ON
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82

Answer:

FIGNG HTEaST HHIRI BT HoRT o STl
The Wildlife Week is celebrated from

= Ul Ll i CaY Sb)

A.2-8 3ifaeleR
A.2-8 October
A. 2-8 S

B.1-7 9+
B.1-7 June
B.1-7 0

C.16-22 Td
C.16-22 April
C. 16-22 Jsil

D.14-20 SHaRt
D.14-20 January
D. 14-20 & sia

A.2-8 3fideTaR
A.2-8 October
A. 2-8 s
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83 SR gadl SfH ged, ST Srarel Ted, JTarsian gruft e, rodrdl Ad] Iged, Aaidl ¥9s Ted,
THGIAT RS Ted, dR MU b1 fudl?

If air is called land, land is called noise, noise is called water, water is called river, river is called sea and
sea is called oxygen, what do we drink?

fom i WS w5 e il LS o] S jnien ) aian oS (62 st S A ol S )b b S (e e S s S

AT
A.River
A.cx

B
B.Sea

B_‘)-\..\.AM

c.aroft
C.Water
C.4
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BRYICIS
D.Noise
D._sé

Answer: A.:l_cﬁ
A.River
A

84 WefAUD! BT Uragr=AT feaxht uuH urfed fbar Thd oifs; ahd?

Which of the following can be seen or heard first on a rainy day?

o lubleson do wow 00 S b eSS (e dd a2k

A fao TH® 0
A.Lightning
A Sl

B. &l SISl

B.Roaring of clouds
B.ls XS b

C.3ayI™
C.Rainbow
C.z A s usd) s))
D.d%

D.Moon
D.xla

Answer: A fas gH®
A.Lightning

Al Sl

85 Choose the word which is most similar in meaning to the given word.
SUBSTANTIAL

A.Considerable
B.Worthless
C.Negligible

D.Slight
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Answer:

86

Answer:

87

A.Considerable

I Gietd Uy feden mai ey e sfeR/Rrsa/Re Fasr.

Greliade! Y eg HI0T 2

A BHARHT
B. YT
C. g
D BHI¥hT

B.&MB®I

TR FH: 2

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.
Fire : Hot : : lce : ?
oS e aailadlfch o alleie s Jalie 8 0 (e s i3~ ydie 1Can

$icipmiiaX:

AYS
A.Cold
A3

B TR
B.Water
B.&k

cfem
C.Snow
C.—n

D.4gl

D.Furnace
D.ols il
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Answer:

88

Answer:

89

AYS
A.Cold
A g5

GET IT ON
Google Play

11th S ITATST TTORT e STl

11th July is celebrated as

11 = Ul Lle (Y s

A SIS WY fa
A.World Health Day
A Camag (S

B.SRTIcIeh Alh & fe
B.World Population Day

B. bl am (S L

C.SIdRTCHT Higer f

C.International Women Day
C. 23 as Judis 5

D SIFTfd o fa
D.World Water Day
D. o3 35

B.SINfA® dldae fad
B.World Population Day
B. Ul o (S L

T I WG fhdM e T BT e 72 T8 YT THARSAT qhedidsd H1ud Tid 3Te. °-

HIIUITITS ! TaRIH ST HIU! A T ST 318 2

A cube is painted and cut into 72 smaller but identical pieces by making the minimum possible number

of cuts. What is the minimum number of cuts required to cut a cube?

oS A S S S S, e KIES (Saa S oS S WS BS S o 0 K a3 72 s ) S S S
1S 25y s SIS 8 S

A12
AA12
A12
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Answer:

90

Answer:

91

B.8
B.8
B.8

C.6
C.6
C.6

D.1
DA
D.1

D.1
DA
D.1

0
0
0
0
0
0
A a1 e U Wsg HIoTd 2
ATSRT
B.goRT
c.Fug
D.fds
D.fds
120 T 130 9vft ALY 3 &g gfgATN

An 1Q in the range of 120 — 130 shows

120 -2 U8 pb Sy (S a0

AIHY
A.Superior

A. Sl

B.gagTeIRUr

B.Average
Bl

C.37dl 3HT
C.Very superior

C. s Sle!

UTest gRiadr.

level of Intelligence.

¢ 58 IS e S 130

GET IT ON
Google Play
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Answer:

92

Answer:

D Fffed

D.Borderline
D. oY J3L) oY ak)

A3PY
A.Superior

A. e

A. 48
B. 49
C. 51

D. 50

D. 50

GET IT ON
Google Play
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93 I fearelt wfedt dreseiigdd arar SHfn Wretd wsi IR .
eI P, Q, R, S, T 3101 U ATTdTe hU=gid TH Hdld, S - TTd, iR, Wafded, Tud, hagd
30T HRST T § AT A Said 3 gl
|. ST G761 C ITaal 318 df YUaHed HIH dal SN0 S Sl U arda 3Mg al T H HIH Hal.
II. U BT Ui fbar lhageded H1H $-d g,
1. P 8T et T o aroRar 3nfor 3iRed Hel BT .
IV. S UgHHS HTH HRId el 0T MAfeH feaan [ refen uraifod deid el
V. T TTeed &9 Fxal 3N S fobar N gt Tud Ted &1 v e,
V1. Tage feva fdhar fUgesn T =1¢ Ui & ATeid ST R T[T L &9 Bl
T S0 W SIS Urford el Mg

DIRECTIONS: Read the following information carefully and answer the questions that follow.

Six friends P,Q,R,S, T and U works in different companies namely— Google, Oracle, Prometric, Apple,
Facebook and Tata and each wears different coloured company- sponsored shirts, viz., White, Black,
Orange, Yellow, Green and Grey though not necessarily in the same order.

I. The one wearing the white shirt works in Apple and the one wearing the black shirt works in Google.
II. U does not work in Prometric or Facebook.

[ll. P wears orange shirt and works in Oracle.

IV. S does not work in Facebook and green coloured shirt is not sponsored by Prometric.

V. T works in Tata, and neither S nor Q works in Apple.

VI. Facebook does not sponsor green or yellow coloured shirts and R works in Goole.

Which colour shirt is sponsored by Prometric?

o Sl S sl R o sl o5y e a8 il i3 an ke iy

sl g Pe Qe ReSe T sl UG ) eSmasd el oS Jinas s eS8l « 88 — (ol S 0 0 58 1S (e (e Cilina
Y 2 81 e sl el (S0 IS i s Ui Sl g (S el (S S (S K0 Caliine Sy
U e T Py sk

| = S a8 ae R W1y iy &1y (S sl o S &S (e Jyl W1 iy &b b

- U - = BS oS Gae Sannd b S Sy g

- P - = BS a8 (e ISl L) o iy S5 Ko

IV-S - = 0 e oS omailansl nmg 3 S S Jlaag  E3d (S B0 2 sl 2 BS Gl oS (e S

VT 55 st S S e B S o i Qo UK oS e i

VIsh = S O mailgusd G155 (S 805 Gy be S . R o WS a8 e KL

VD TR T S S

Afuger
A.Yellow
Ay

B.Uiaxl
B.White

B. i

C. At
C.Orange

C..5 0
D.fuifva o SIS 2 d g

D.Cannot be determined
D. = B la LS (b (s
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Answer: A.fuga1
A.Yellow
Ay

94

Answer:

95

IEER e Y 3MTQ —
The Chabahar Port is in -

=S ol

A TTfEa=
A.Pakistan
Ao Jaush

B.HRd
B.India
B.uw L)

C.SITTEI
C.Afghanistan
C. Lo liwilad)

D.gxIuT
D.lran

D. o= ol

D.gxIu7
D.lran

D. 0 O

3iftrg faigr arard 3 3 —
Abhinav Bindra is known for -

(ST E N E N PRIV,

A TSI
A.Shooting

A S 6l il
B.foRamsit

B.Archery
B.2 S oluls

GET IT ON
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96

Answer:

C.hag!

C.Kabaddiw
C.2 Ssis

D.gdlgs
D.Chess
D.A S@xas

A FTETST
A.Shooting

A S 53 i

AT I TUH W e 0! HIVIAT e TIR Hdl SIS Whd ATa1?

CARDIOGRAM

Which of the following word cannot be formed from the given word?

CARDIOGRAM

‘CARDIOGRAM

A.AEROGRAM
A.AEROGRAM
A.AEROGRAM

B.RADIO
B.RADIO
B.RADIO

C.DIAGRAM
C.DIAGRAM
C.DIAGRAM

D.CARGO
D.CARGO
D.CARGO

A.AEROGRAM
A.AEROGRAM
A.AEROGRAM

GET IT ON
Google Play
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97 T AT fRIEHT 01 ST SHTed?
What are the traits of a good teacher

AT
A.Empathy

As)S o

B.3dTe
B.Enthusiasm
B.Ady g

c.Rrd
C.Discipline
C.lhua jpk

D. a0 Id
D.All of the above
D.oes Yz 2

Answer: D.aﬂﬂaﬁﬂé
D.All of the above
D.oe Yz 2

08 WU SR[E AT I ?

A. TR ITd QU 9& Hadl.

B. 1A araHTel! U 31dS 3G

C.d U AR GIKiTd DHTH DRl
D.Ufe@aM IETSATd ATciTATd ST,

Answer: D.Ufad 3IRATSaTd Aol ST,

99 Tfaemrear e gam e feam et wramn s s/ar

What is the maximum time-interval between 2 sessions of Parliament?

€ LS Al g ol ) e odl) ey S Gl 2 S il

GET IT ON
Google Play
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Answer:

A.9 FgH

A.9 months
A. 9 Sy

B.3 HaH

B.3 months
B. 3

C.6 A&

C.6 months
C. 6

D.2 HgH

D.2 months
D. 2 s

C.6 {gH

C.6 months
C. 6=

GET IT ON
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100 U0 “RIURIA gdam 9 Hiex SfaRTaR 3118, 3 CTHURIH Sf&foid 4 Hiex SfaRTar 3. ST SHuRE

T 6 Hier SiaRTaR 318, R =R 31101 ST areamHe fahdt SR 3mg?

Ainam is 9 meter towards the East of Nair. Ani is 4 meter towards the south of Ainam. Amaya is 6 meter

towards the west of Ani. What is the distance between the Naira and Amaya?

= o e B b (S e S TL L o g e d Gl (S Saul o g e 9 ik (S 30 S il

?dAmEmSuQAJJéQu\)J\bJEb

A5 H.
Ab5m
A5 fw

B.3 HI.
B.3m
B.3 Jix

C.6 HI.
C.bm
C.6 sin

D.16 HI.
D.16 m
D.16 fiw

Answer: A.5 i
A5m
A5 fiw
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101 . T TETE 1T dieRuard A 318 TUT AR Wd:dl 9iex deddes df fSidbdl. age
IR g Bl THSTUITE! Tl HIUdTe! URTAR SIS, dhdl. SAR YgHR] ATATR G S5
319U Y UG UHG Hee?

Suppose a teacher has acute stammering problem but he wins the favour through sycophancy.
Therefore he goes to any extent to seek favour from the administration. The other colleagues have
great jealousy with him, because he climbed all the progressive ladder through that quality. How would
you like such a person in your company?

15 S Jhals o L) e S i Sl (5 153 LS Ll S 00 (B padin 500 oS il S 1S S m
o RS 5S eG S d Cag s_S Gl gl 2ty e (S 0 gr oS 0S5 8 deala S 5 S mselliil o
€ 8 Sty S S add Sz ok el (e Cume Gl b IR )l S (B ) S e o

AT Fafd gl fRigieh 318 U Jrel aTdl T FHeldld

A.You treat him like your ‘Guru’ as he is the most successful teacher
A = ) QLS 02y s o5 SsS K (S sl z b (S5 8 a) S Gl O

B.3{TYU IATATR ST B g AT IR IR HRUIR
B.You criticize and abuse him
B.ow =S ¥ (S Ol ) om 58 i gl

C. 31901 ITdT 3Taa U i IaeuR
C.You will treat him as his best friend
C. =S Ul Ui osh S Cosd (i S ol

D30l I i ¥ dreauarardt, g 9 g MetHdie e grRaadl

D.You tell him the difference between right and wrong things, to enhance his moral courage.
D.oy Sl 38 ge s S s hle 5l G A S S Sl ja BMA) Sl G,

Answer: D.3TU0 1< Afde &F areduamEaTdt, Irg 9 g MuiAdid e grRaddr

D.You tell him the difference between right and wrong things, to enhance his moral courage.
D.uy Sl 38 g S osim hle i) Ga ) S S Sl e (B Sl o,

102 g 941 Al 3 U 2011 &1 YA Uaar MfOT 30 A 2013 @1 fa- XMesT T al. oR ot &1 Medd
fopeht faag grt?

Heena joined a new school on 3 April 2011 and left on 30 March 2013. How long did she study in the
school?

S o 5 00 S e JsSeu) 5 0l L3 Ssean 52013 zke 30 Ls) LS 0l sa JsSosl L Sl € 2011 Jip) 3 3 s
A.730 faag

A.730 Days
A. 730¢0
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Answer:

B.729 faag
B.729 Days
B. 72902

c.728 feay
C.728 Days
C. 728

D.828 faay
D.828 Days
D. 8285

C.728 feayg
C.728 Days
C. 72802

MY 8/3 x 270 = ?

Find 8/3 x 270 = ?

GRS aslra
8/3 x 270="7?

A.710
A.710
A.710

B.720
B.720
B.720

C.730
C.730
C.730

D.920
D.920
D.920

B.720
B.720
B.720
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Answer:

Which of the answer figure is exactly the mirror image of the given figure?

¥ = d\.s.l__u_g.u’.‘b.l _;r.‘nru.l.lw ﬂhd\S_ﬂ}-ﬂJ&.ﬁSﬁu}MM ual S ulgs

Sk o

Main Figure

o el ad

O4rnm
*lalal®]

FearaTer TATd ArFe
Answer Figure
el oS s

GET IT ON
Google Play

mEno
wEAE

BAN0
=lu]*l=

BNND
SRl

A
A. (A)
B. (B)

C. (C)

B

C
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105 I feareht wfedt dreseiigdd arar SHfr Wreta wsil IR &
eI P, Q, R, S, T 3101 U ATTaTe hU=gid TH Hdld, S - TTd, iR, Wafded, Tud, hagd
3TOT HRST U1 § AT A Said 3 gl
|. ST G761 C ITaal 318 df YUaHed HIH dal 30T S Sl U aTda 3Mg al T H HIH Hal.
II. U BT U fdbar lhageded H1H $-d g,
1. P 8T et T o aroRar 3nfor 3iRed Hel BT .
IV. S UgHHS HTH HRId el 0T MAfeH feaan [ refen uraiford daid el
V. T Te™ed ST Fxal 3N S fobar N gt Tud Hed &1 v e,
V1. Trage feva fdhar fUgesn T =1¢ Ui & ATeid ST R T[T AL 619 HRdl.
SR UiHfea S1for Yuem g Ui dredT SITuN-a1 e f=am i Sieaaed HR1gd 33ad ar HIurl
QI eI 3T JC fEaAEaa! HRId ANTIa?

DIRECTIONS: Read the following information carefully and answer the questions that follow.

Six friends P,Q,R,S, T and U works in different companies namely— Google, Oracle, Prometric, Apple,
Facebook and Tata and each wears different coloured company- sponsored shirts, viz., White, Black,

Orange, Yellow, Green and Grey though not necessarily in the same order.

I. The one wearing the white shirt works in Apple and the one wearing the black shirt works in Google.
II. U does not work in Prometric or Facebook.

Ill. P wears orange shirt and works in Oracle.

IV. S does not work in Facebook and green coloured shirt is not sponsored by Prometric.

V. T works in Tata, and neither S nor Q works in Apple.

VI. Facebook does not sponsor green or yellow coloured shirts and R works in Goole.

If Prometric and Apple decide to interchange the colours of sponsored shirts, then which two persons

will have to interchange their shirts?

o e SOl K a5l o5y e e S Gilaglae Jd ke by

Csd g Pe Qe Re Se T sl UG ) S el oS Jinas g oSl 88 — (ol S 0 0 58 1S (e siaS Cilinae
Y 2 8 s U)o ey o SL oIS e s lig G P (S milnd (S S (S Ko Giline Sl )
O O 5 JSy  )sh

| o S S e SR W15 iy &5 IS 55 08 A8 e i Wy iy & 55 i

- U - = BS G plS e S by S faa s 5

- P 2GS a8 (e ISl sl iy @yl (S0

IV- S - = 0 e oS mailbpnsl mma yd S S Sl Spd (S K05 2 g =2 BS (el oS (e Spunh

V-T 580 55l bS8 (i S (0 Q- BS S (e Jy

VIDsh 20 S G i) G158 (S8, ybe p S . R. U SAS G KBS

S AN i G SRS (8 Fen S dad € 38 g8, S &880 sl dyl sl S S

A.S 3ffoTu
A.Sand U
A.S s U

B.P 3T R
B.Pand R
B.P ,JR

cSaforT
CSandT
CS T
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D.Q 3fUr s
D.Qand S
D.QJSS

Answer: A.S 3ffoTu
ASand U
AS 55U
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Answer:

~\
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Mental growth-stops somewhere between

= SO ol ol S ol B el

A.16 3101 20
A.16 and 20
A.16 20 3

B.8 3T 12
B.8 and 12
B.8 12 Ll

C.14 3107 24
C.14 and 24
C.1424 5

D.10 3f01 20
D.10 and 20
D.10 20 s

A.16 3101 20
A.16 and 20
A.16 20

SR AMRYS aTe Yidd
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I WIetd feoiedT UYHe H1e! e SMfiT STl fsh s SHTed. JH-ATd: J1d TAT0eT d ales SRdid )
fEaret faem greTa I Amdt anTdier SM1for AR feaied faemre sl fademie! wiurdr fssy
difchareted] el o BRal.

faem:
Y<J=PzR>|
frepy;

E

Y <R

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly known
facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statement:
Y<J=P2R>|
Conclusions:
.Jd>1

I.Y<R

e el S @lEs s s Jshdle SOl 81 3 en g il 428 2 S Gl 43S 0 s D~ ie 1l
3 s Alahie aai Lad S LS L (e i ~S (G )S Alad IS byl ey ) oS pme gled ity K 0 e 58 K S
= U8 oom S by 8

ol
Y<Jd=P2=2R>|
i

J>1.1

Y<R.I

AR e | et TR 3118
A.If only conclusion | is true
Ay R o G pd aagis

B.@R Wad Il fsh wvr 3mg

B.If only conclusion Il is true
B/\A—\-\Jk_i‘)«a‘)g‘ | QSRR

C.R | fbar 11 arue! T fFsny TR 3R

C.If either conclusion | or Il is true
C. A sl = s S s e s

DR 1T 11§ alolg! Fehy ¥R A8l

D.If neither conclusion | nor Il is true
D8I Sl s o3 o (SS m 03e il
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Answer: AR Had | 56 BRI 318
A.If only conclusion | is true
A.ciya R o Gy aais

108 T U URATA U U4 fAURIad IR faU™ 3Ted Saf=arard! A, B, C 30T D 31 R fau 31ea.
HHIR fqum Sie! aeT same wud faur go=an faumTar gaad, $iftT gl faum afbamesear wa
faereed fAfed sre.

SiegT T aTdl Wesdl, degT qReTall SMHd! ared
A. TR Sld Wadard

B. g%! sid Wosell ATl

C. Tl 3! areat

D. THTaT 3T} ared el

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

When you play with ball , you feel playful
A. you played with ball

B. you did not play with ball

C. you felt playful

D. you did not feel playful

in S s Ses Sluie paend g R S bl S 63 ) et ) e s an Sea o ales SO e Vs syl
op Gitbe S o S e Ahie e 53 5l by JSe sl (S alea £ sy e Sy (L

O S Gusmaa IgA 5o iheS w a8 O G
AleS —w il ol

B LS i o w8

Cuise s Sl

D o isd Sl

A.AC
A.AC
A.AC

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA
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D.CD
D.CD
D.CD

Answer: A.AC
A.AC
A.AC

109 HIGATHD R AT e HT- Sekital 0T
Characteristics of emotionally intelligent persons

O Glaa pad (S Galdl) Gad sk Shaa

A 30T SToftar SMfor HigaiaTa! feresret 3ol Sfor Tde-=id 3.

A.Perceive and be sensitive to your feelings & emotions.
A= b psbea (i S o) ) Ugaan € Glida g clulial S ilog

B. 3T HIGAaTST frabTet 3MfoT TaeA=ite 3ol

B.Perceive and be sensitive to various types of emotions.
B b b (5 S 0 )5l Ugnans S@lida Sk calida s

c.fae uvrg g 3o suedr Hia=RR digdr gHeT

C.Understand the power influence of the nature and intensity of your emotions.
C.- = lgnan S il Jige (e lidhe S o) 3l Cue i S alds S ilsy

g1 Id
D.All of these
D.-Slis pad 5 b =

Answer: D. It gd
D.All of these
D.Slia pad s b

110 THT Bl Widhs sl GRIgT Ue GoW Urdl: <l AT afSared TR Tgardl arit 3. ot Tt ST
T GRS ATd B2

Pointing to a woman in a photograph a man says: “She is the only daughter of my father’s mother-in-
law”. How is the woman related to the man?

s mil ) LS s (ol S pse " a5 S Gl (S Gl pae 2" ILS el S S0 )L Giph (S G se ae pgeal
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A et
A.Daughter
A
B.3MTS
B.Mother
B.ow
Cyd
C.Daughter-in-law
C.ow
DI
D.Mother-in-law
D.b
Answer: B.\’rﬂ'sfC
B.Mother
B.ow
111 TR 1 Yot Heft T
AT+ TR
BT + %%
C.T+ '5‘%]?
D.TTT + 387
Answer: CIl+ %%R
112 3IHH 11, 22, 33, o 5d UG Qe

Find the 5th term of the sequence: 11, 22, 33,..............

33,22, 11 oSaicnhSamod ..

A.33
A.33
A.33

B.55
B.55
B.55
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C.44
C.44
C.44

D.66
D.66
D.66

Answer: B.55
B.55
B.55

113 I Wi gy fooedr gty defia sier/=rsa/e Hasr.
faoram ¥4 : (9, 49, 121)

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Given set : (9, 49, 121)

.wﬁumuﬂlkﬂ/uﬁﬁhhcmdahh:gda40:\4;]\_5..»‘_3.4),\;)3“L\.«.n

121,49 ,9) :&uu LS L)

A.(1,9, 25)
A.(1,9, 25)
A.(1,9, 25)

B.(4, 9, 25)
B.(4, 9, 25)
B.(4, 9, 25)

C.(81, 36, 49)
C.(81, 36, 49)
C.(81, 36, 49)

D.(25, 36, 49)
D.(25, 36, 49)
D.(25, 36, 49)

Answer: B.(4, 9, 25)
B.(4, 9, 25)
B.(4, 9, 25)
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114 frder: faciean siep wifcrabdla g i T=T Xe:
3,5, 11,29, 87, 245
DIRECTIONS: Find the wrong term in the given number series:
3,5, 11, 29, 87, 245
oS i ble ez paoned R 2oyl

3,5, 11,29, 87, 245

A.87
A.87
A.87

B.11
B.11
B.11

C.29
C.29
C.29

D.245
D.245
D.245

Answer: A.87
A.87
A.87

115 o fEeear WA A 9o ST AT 3 e,
DIRECTIONS: Complete the series by choosing right figure from the given choices.

1S Ao Alubis S5 (8 55 54500 et ot o ST IS s 10y

EEEE
T T

(A) (B) (C) (D)
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Answer; C.(C)

116 Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Ecstasy
B.Facinating
C.Extreem

D.Fearce

Answer:  A.Ecstasy
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117 LI : WA TS THTd G AU | 31707 11 fEae 3ed. § e UdhaR Wadd HRUN 3R /aard ol wWad
HRUM RO 3RY [HdTd. TiUD! U fAUM SR A uRomT e[y 2. Ge! e arr T
G| HIvTT ITRTET YAt a1 gig! fauiadia deuie quie sar d 3xar.

ICRIGE
|. JIRI IR FTSIRTT Yooo T Ul ST 318, BT el §R SIS i TG 3MTg.
II. TRDHRA T 9N Folc TSR bl 318,

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:
I. The sensex crossed 4000 point mark in the stock exchange, the highest mark in last 12 weeks.
Il. The government announces the budget for the year.

Gl 5 e Jsmn L ai sl | s 11T 55 L il g € a0l w0 B s i) S a3 31 Jer b gy 31
O G S Qa8 8 0 2 S (S abead gl a5y ke (sisn o S 5 311S 2 s (lay Sl s (e iy
= B8 il s Sl S (3l e 5o S iy 5i g0

Gl
| — = o b (e U538 12 a2 (S Jsie aa (S it 5 4000 e Sl SEL 5 Suiu
o LS Pl S Sy S 3 ca S

A BT URUTY 318 IO 11 & T dleehTed 0T UG HRUT 31Te;
A.l is effect and Il is its immediate and principal cause;
A gl | el gl ol 2 A -2 s b sl 658 (S o

B.1 B QlchIed S0 g HIRUT 3T 30T 11 BT ATl URuTH 38
B.l'is the immediate and principal cause and Il its effect;
B. s gl | s Gl oyl o b Hel oA - = S G

C.1 BT uRUI 3118 TR Il § AT AThTS TN TR HIRUT TR,
C.lis an effect but Il is not its immediate and principal cause;
C.mad Ol | el Ol OS89 = S - = g s s ) 508 (S ol

D.I1 BT URUTY 3{18 TR | 8 T AlehTes 0T TR HROT ATg!
D.ll is an effect but | is not its immediate and principal cause;
D. i Ol 1l e gl S = D3V | = 0~ ol ) 58 (S )

Answer: A.| 81 URUIMT 318 3107 11 8 T dATehTes 0T TR HRUT 3Te;

A.l is effect and Il is its immediate and principal cause;
A Gl | el gl ol =2 AV -2~ b sl 58 S o
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Answer:
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18540852 WA HIUTHIET [GUT 37157
18540852 is divisible by which of the following?

18540852 € aonsii i s 1S e U3 ma e

A1
A1
A1

B.7
B.7
B.7

C9
C.9
C9

D.5
D.5
D.5

A1
A1
A1

Hfed AISUSIaR00Y T TG G 3Te:

The correct value of 00C on the Kelvin scale is:

00C — sbs mona S JSul (LS

A273F
A273 K
A273 K

B.273.15%
B.273.15 K
B.273.15K

C.275.15%
C.275.15 K
C.275.15K

D270 %
D.270 K
D.270 K
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120

Answer:

121

B.273.15%
B.273.15 K
B.273.15K

@reltel HTEHdAed fohedl el 3Mea?

How manyv hexagonsare therein the following figure?

S 3y A IS e ssland U s aie

A.3
B.2

C.4

A.3

ARG HRS! Al 0T HY 3sETdd?
How to recognize the characteristic of physiologically dry soil?

o bla Ulayy S Cuald (S e Sia 7 5l S

AT HRGR IToft 37
A.lIt has plenty of water
A = S e IS (S L (e )

B.aRYIATST SUTst] FehT=T YT il
B.Light available to plant is not enough
B. = wd S ) Sl S g

C. AT B3I SITST 3 d
C.The soil is hard stony
C. = s ok Gl (S S e e

D T PIvIdE! gt

D.None of these
D.st &S = =0
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Answer: C. AT Holvl GiTa! 31Id
C.The soil is hard stony
C. = iz o) Dl (S S (e e

122 AT gHT FHE AT Jariied Wpe aR TRISTeR T 37T, S JreTdl Jid {TdTd Sedrt
STadl Hoalell, 3= TR Jrl BT HRUIR?

Suppose your friend has just left the home on scooter along with his son, immediately you hear the
news that they have met with a road accident, what will you do in this case?

ﬁ)ﬁ\s‘/_jiédjue}éuﬁcﬁuw)gicfi\)}5cd)ﬁcmxgﬁﬁﬂ@ué&gce\AL\ujA\S&TJASugJSu'A}
§ S A (e G gea ol Gl o 8

AT ATATRA G ATd RIS S0 ATl YST HRUR
A.You will mock him because you have poor relations with him
Aoy S alilad oy gila S o) G ASasS 8 pis ol

B.) iR 9= 3Tuean dafadd du-are gl § AElTd U3 aresdd [0 e+ STl [ < Aed HRUMR

B.You will rush immediately and extend all possible help keeping in mind that this is not the time of
personal enmity
B. = i 85 1S e (13 A8 8 (St wiSan ol g oS ) mome 0 ) S Gls il sals il

C. 30l diFSard fayA Fg JUR Siolee Divlis! STeTe &Y ¢35 ABUIR ATg!

C.You will leave the place immediately so that nobody can blame you later on
C. S 2 mal W e 2my 53 O (o2 (S ASE 8 (0 Ssen s pshiu S

D.3T90T g1 fea=ht i1 Herddl SUR § Wad:d! 9615 HRUANITS! 3 GRIqUIR oI foh JreTar ATt difeat
3T ARITh g HaTel

D.You will visit them next day and give an impression that you knew it just now from neighborhood.
Do 53 pslas w05y ot ) SIS i S 50 R S8l B

Answer: B.) g 9 3iuedr dafaaes dH-=TH TG § d&Td U3 dlesdid fad ST STYedTal ] df Had HRUIR
B.You will rush immediately and extend all possible help keeping in mind that this is not the time of
personal enmity
B. = U i85 1S e (13 A8 8 (S 2 wiSan ol g S mome 02 ) S ols ala sals il

123 ‘HDDhos gl YeaTdl JHMT T HIUMET 2

AfraE
B.SUdlsg
C.HIBull

D. 3T
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Answer: C.BIo

124 fewr: Treia Uy feden Tsaiar 3metikd 3.

light/ ride/ when/ price

SR faeiedT YeaAe TR AFIA &R Saad a) EioiTe S ATedl JeodT &R Jaad ax (ol Xead
A fHHM U WR 3le?

DIRECTIONS: Each of the following questions is based on the following given words.
light/ ride/ when/ price

If in the given words vowels are replaced with its previous letter and Consonants are replaced with its
next letter then how many words have at least one vowel?

o Jatdia pigadl o 23 Jlse S dis Gyl
light/ ride/ when/ price

¢ Sis il S Mg Jgly Socipma 58 s Ay wcipn B S i Gin o K SGipa n egsil ) S

AUD
A.One
A

B.aM
B.Two
B.s

okl
C.Three
C.os

DdR
D.Four
D._s

Answer: C.dH
C.Three
C.uo
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125 UieR HUS HIATUET U 3RIdTd HRUT O?

White clothes are cooler than black ones because they -
TS o e et e S 58 IS 5 via
A AT Tigiaadl UehT=T MY gdrd

A.Absorb all the light that reaches them
Aon S S S by e s Sain SO il ey

B . ITqdd Uigiadial Id YhT=l URIdfdd bdld
B.Reflect all the light that reaches them
B.on i S OSaie S i) e g i SO

C UBTRATE Ya=T HRUAE WA ¢d ATgid
C.Will not allow the light to penetrate

C.=S 0 U el Ll S Al

D gAUSTRIET Yuivu) 4 HRTd.
D.Cool the sun light completely
D.ow i S 13365 5 sk JeSa oS s ) (S zosm

Answer: B.JrAqdd Uigaaial 9d UehTT WRIafid HRard
B.Reflect all the light that reaches them
B.ow i S faie S g o Ay Sain S )

126 T d ORI 8Id ST UTaich-R1&i Fae-T YeaThiad] afoid Aeareard 3mqul femaf=n uraemih
HY IETA?

How would you behave with student’s parents on the eve of parent-teacher association being observed
in the school?

€8 Ll Gl 7ok oS 5 S o il e ol (S Gl (gl S 5 a5 e IS il S 0l S e il

A SRIHTYMHRGYY, TWIIgUia d AT Hedw ATUUIRT YT TSR STg!.
A.Poorly, full of selfishness and forced them to oblige with gifts etc.
A S K psne A _Soye g iai il ol s 5 e om d5A <5 S

B.gedM, SR g1 aivg HTcsen ddedrde UTadhHT JHIL dIeuR

B.Nicely, so the parents can feel satisfied that the teacher has given due care
Bdéd\.@.\@dw\éw\:oﬁh\éwéxﬂwﬁu@w.ﬂb\.\?} ‘C““C)Liie‘

C.FspIad SR UeTar AR B faendf siuen Wiad %ad Udhd ay JIGUIR WU Jid [N dhatd aX

C.Passively because you feel that the students are only for one year with you so it is better to exploit
them

C. = i LS Jlaniad 1S ) 130 G S Jls o) il S G Cipam ale (il oS G 5 S o susna o w558 gy s aiSiae
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D.HAT AR T S8

D.Uninterestingly devoid of emotionality.
D.osome o i e 5y jsha S qpuanls i,

Answer: B.I&aM, SR RiempiHt dg wreseh ddeies UIAdh =1 JHIYM et

B.Nicely, so the parents can feel satisfied that the teacher has given due care
B. = S Jle 6500 o) (S ) Solilul &S S g Giadae (pall 5 13 (i 7 sl )

127 AT S1dquf U fFmfor srograret, @t flGaedt (), (Q) (R), (S) 30T (T) & U aTe’ TRy SfIehdM
TR HT; AR ATeid Wil ST .

P. Tcs THH® R dg MU W SuaT0aT desiie Bl T i /ol IiTa 3/ gadhe 3o Rig
G BRadd.

Q. Al U TRE IgIes1dT fead gIdl. uroh [Uuarna! Ut Sieal dereides Rig 3Mfir gaems Adid.

R. d U groft T Sfor aFar sasuedn driar fed Srar.

S. AgHd I Hesd foh, TS Tieamis! Ue fdhar arogt @it UsSvarel are urgd 3R, ot Jarearmat
ATaTT B,

T. 107 377eft Uroft IR Arae a1 °Tel 30T dg SR ¢H JIUART! o UISIdes Yisd, dagl il
q&Td 3ol o Fearar fMurs sigd.

JATHT HedHdR WU HI0d ared gaR 3ad?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The lion and the boar then decide that it was best to make up and be friends than fight and become
food for vultures.

Q. It was a hot summer day. A lion and a boar reach a small water body for a drink.

R. They drink the water together and go their ways after.

S. Soon they realize that the vultures are waiting for one or both of them to fall, to feast on them.

T. After arguing and fighting about who should drink first, they get tired and stop for breath, when they
notice vultures above.

Which of the following should be the SECOND sentence after rearrangement?

ostex b o) 1Al (P)e (Q)¢ (R)6 (S) sl (T) ushhsm =8 20 2 ey ¢ i i o Jlgs ) Sl | m sie by S
s S

P. 2 s —eal os) o Splom oS len) oo i A S8 5l 8 (Y SUS lead 3 e sl el

Q. i i b s sl e W QS e RS,

R. 28 J50 o il s ) 2 05 by o e s s,

S. 5 S SIS 55 (8B oLy S T S (50 Ly o) s el 284S | (sl g5 (sl

T. W i ) S o S LS gl o o R A S gl 5l RS g5 m am S S5 S (8 s S8 L

e Uglpmgalaa b g€ a0 S S yisjbg
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Answer:

AT
AT
AT

B.P
B.P
B.P

c.Q
c.Q
C.Q

D.S
D.S
D.S

AT
AT
AT

GIeAUD! BT Teitd Th Wiel aRidd?
Which of the following symbol represents a proton?

§ s 1S (Rl (S ()i Sl Caadle i€ s aa b e e

AH*
AH*
AH*

B.H
B.H
B.H

C.He*
C.He*
C.He*

D.He"
D.He"
D.He"

AH*
AH*
AH*

GET IT ON
Google Play
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Answer:
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Answer:

131

A.5

B.8

C.12

D. 15

A.5

225
=7
9
3 Y S 3 @ e

ODD stands for

&3 &3 51 (ODD) = ks S

A STRIURH fethe f$asiter
A.Occupational defiant disorder
AL 31 o8 &laS Judi S
B.3{Tegxcll fStha T fowsiier
B.Overly defending disorder

B. Satuil I 55

C.3mMf3reTd fethe fegaiier

C.Oppositional defiant disorder
C. 30 8 SulaS Judy 5 sl

D.(a) d (b) G
D.Both (a) & (b)
D.usis o sl

C.3af3rd fethe fegaiier

C.Oppositional defiant disorder
C.o3) (3 SuilasS Judy ) 5

WAUD! Tl Ueg e,

AT

GET IT ON
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Answer:

B.TRUHIG
C.TohUr
D.7HA

C.I®H

(11)3 - (3)% o T el = ?

Find the value of
(11)%-(3)°=72

(11)3—(3)3 =2
GBS pslaa ¥ (S

A.1304
A.1304
A.1304

B.1400
B.1400
B.1400

C.1325
C.1325
C.1325

D.1425
D.1425
D.1425

A.1304
A.1304
A.1304
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133 Out of the given options which best expresses the meaning of the given Proverb?
Beggars can’t be choosers.

A.You must accept that which is given to you, especially if you don't have the means to acquire it

yourself

B.Even if you are not left with any choice or resources, you should not compromise and never accept
what is being offered to you
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C.We should never encourage or promote begging in any form

D.Beggars always have a desire to lead a life full of luxuries and comforts

GET IT ON
Google Play

Answer: A.You must accept that which is given to you, especially if you don't have the means to acquire it
yourself

134

Answer:

TS UHIO I aid Wit ) e

Amazon is the largest river in the world by -

= 6 e e (ST el

NG
A.Length
A s S Jld

B.5d1
B.Width
B.— s S S5

C .o yHmT

C.Discharge volume
Comcba Seaa s Jng s

D g0 PIuIde! gt

D.None of these
D.ux P5S (el

ARCAIER LI

C.Discharge volume
Cmla Saaa Jy Snzila

135 DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar
in meaning to the underlined word.
They were ecstatic when their team won the championship game in the last second.

A.Overjoyed

B.Mournful

C.Dejected

D.Unenthusiastic
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Answer:

A.Overjoyed

AT Wed wHie e AT Jefiid e g Hasr.

MTFP : ORIM :: JXRL : ?

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related group of letters from the given alternatives.

MTFP : ORIM :: JXRL : ?

-wﬁgih%,ﬁdhjalsq}ﬁ:‘wdawﬁjidq‘Uyd\ydglﬁ_;)ﬁ.«:w

MTFP : ORIM :: JXRL : ?

A.LVNU
A.LVNU
A.LVNU

B.LVMU
B.LVMU
B.LVMU

C.LVIU
C.LVIU
C.LVIU

D.LVUI
D.LVUI
D.LVUI

D.LVUI
D.LVUI
D.LVUI
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137 TS oSl B YRR SIaTaeR! Suedrar Aauard SMe 38, I Hlal TgdRT STuedT
71 fafes FERRIGR A%h B 3Med. 3=RAT YRR 39T 30T HIGHT HRAT dIedTd SaUlR?

Suppose you have been assigned a duty of beautification of school campus, a few colleagues are
cracking mild jokes upon you for this unique assignment. How could you control your feelings under this
situation?

S e Sy S i o et a8 ot LE s IS 1S 5 s 58 oS S S U5l S 0 oS (S
?uﬁé&ﬁdjﬁcﬁsﬁ‘—'\-’hc\a‘Qﬁéw‘-&ﬁ‘w‘%‘u&ﬁ)

A.3{TTUT AT AT T UTea=aT STaTerTd $Tdh Ul Audaied] BTHRRT [d%te 3Muelt dhR

A.You become angry and go to the principal’s office to register your resentment against the assignment
A S s S Juasinl Sl QA S (a6 286 G Sl jiiy S Jud sl on Sl s oal i Gl

B. 310U Wb R TUT T HTHIT BIe! d&f SUMR ATel

B.You accept it but do not take any interest in the assignment
B. 25 U (el e sl (S U S8 sl G

C.8 HTH 3MTUT &<l Ui s 3redTes U Yemaids 3o et Sifafad Riefe A9 Svarh fa-idt
=

C.You request the principal to depute a few more teachers as the work is beyond your capacity
C.cﬁ)f\q:»ﬂphé&f‘e&&)éugd)s&mﬁb;ﬁu‘ )J\esﬁsu:\,\é;m\}s)acuw#g

D. 310 3T Heied T YhR UR UTSdl AT U -1 HiawTd A9 Sauarmd! eft e
et

D.You do the duty in a better way so the colleagues never get an opportunity to make remarks in future.
D. e ni @ise SIS 15,8 00 e Jiiane (45 o (el AU G Sl b ke i il

Answer: D300 3TYA Haied el UHR UR UTSdl AT 0 Jgd -] YA 19 squaremdl deft o
gl

D.You do the duty in a better way so the colleagues never get an opportunity to make remarks in future.
D. e gdse (S8 1S 5,8 28 e Jine (48 S (et ASU Gy S0 ol i d e Bk i il

138 TS fhedl S0 I 3R ?

In which state is the Mehrangarh Fort?

= O a8 aall S AR Ol e

A XTSRRI
A.Rajasthan
Aokl

B.7[SIRTd
B.Guijarat

B.cl a8
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Answer:

C.TERTY

C.Maharashtra
C.IAS

D.gU! PIuIdE! gt

D.None of these
D.u &S el

AXTSTRITT
A.Rajasthan
Al

C.1&ll

D.

D. 1l

GET IT ON
Google Play
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Answer:

141

Answer:
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3TIaT STaedr faendf SR o Tghrier UHRYG Cldh] HRd 3], aR T aR gHd! Ufdfthal &1 Sa?

If your favorite student criticizes your colleague in an insulting language, what will be your reaction?

$8 5 daea ) WSS O 5 e oS 28 e L) 6 et S Gl Siale Gl satiny S il )

AT T Il TG B3> SAIOT STl 31 SU 31
A.You enjoy the criticism and put more fuel to the fire
Ao SIS oaai) 25e s ST sl G s 5sil el 2 o

B.3TYUT YT 3 URd 813> 14 WU fa=ma i« gl Idraun R

B.You strictly warn the student not to repeat it in future
BL‘)SMLHH\D‘)D)AU:\ALLSLMASU.*:”})SJ\AJA}SAC d&c"‘é“‘fﬂ

C.3{Tq07 97 &0 HaaY U Uda YUl ATge HIUTdTe! A3 T GUIR Tg!

C.You hear at that moment but not giving such liberty to anyone to next time
C. 20 0 @I (S o ) S (oS 02l S (i iyl

D. 30T 3T TS SRISITd T SidhTg SUIR e

D.You never permit him to enter in your own private-world.
D. i (e )lal (S s JA (e Lia (a8 (0 A eSO,

B. 3T YT 31 URd 813> -4 WU faemafr are Idraoh o

B.You strictly warn the student not to repeat it in future
B_L‘)SALHE\DJMJJ%M/\S%:“JSJ\JP}S#q&:&@%‘
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Answer:

143
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Out of the given options, choose the most appropriate one to fill in the blank.

She from her chair to welcome us.

A. rose
B.have rise
C.have rose

D.has rise

A. rose

65TV 2 T. 1 fooclt cab 3MmRa?

What percentage is 65 paise of Re1?

65.@}9&.4:\51_'\3515:3:1_9)1 e

A.55%
A.55%

A.55%

B.60%
B.60%

B.60%

C.65%
C.65%

C.65%
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Answer:

I @ied gy fGden maieT i sfeR/Rrea/iReTm Faer.

7584 : 5362 :: 4673 : ?

D.70%

D.70%

D.70%

C.65%

C.65%

C.65%

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

7584 : 5362 :: 4673 : ?

7584 : 5362 :: 4673 : ?

A.2367
A.2367
A.2367

B.2451
B.2451
B.2451

C.2531
C.2531
C.2531

D.2485
D.2485
D.2485

B.2451
B.2451
B.2451
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Answer:

“ T[e5 UTT0! * T JTRIIRTT 31 BT 2

AMTd ATg S0
B. AN U sUl
C.3{T9g BRI
D.frdt A0y

C.3{TIE 0!

GET IT ON
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146 LI gl uRwse i HRugrat, @l faed (P), (Q) (R), (S) ST (T) 8 U ard) A Sieh
R &T; IR @TelTd gt ST .

P. WM UhAH R dg MUTST W SHUITUET desiie B0l 30T fi Sror 9ivTel 318 o 31fUr Rig
G BRadd.

Q. dl U TRH IgresTd fead gIdl. uruht fUuarardl Ut Sical dereides Rig 3for gams Adid.

R. d oA groft fdrd st aar smasmuear Arfar e S

S. AGHT A Hesd b, MUTS AFTUS! T fohal e @rell TSUaT ale UTgd 3Mlgd, < Arat
EECICIRRI

T. 107 37eft Uroft IR rae a1 T SMf0T dgH SR ¢H JIUARITA! o UISIdes Yied, dag] i
&1 317 fob =araR fiers aired.

QAT HedHdR WU HIod aied Ufed Sra?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The lion and the boar then decide that it was best to make up and be friends than fight and become
food for vultures.

Q. It was a hot summer day. A lion and a boar reach a small water body for a drink.

R. They drink the water together and go their ways after.

S. Soon they realize that the vultures are waiting for one or both of them to fall, to feast on them.

T. After arguing and fighting about who should drink first, they get tired and stop for breath, when they
notice vultures above.

Which of the following should be the FIRST sentence after rearrangement?

ostes & o) 1y (P)e (Q)¢ (R)¢ (S) s (T) ushsm =8 o 28 o ¢ i iojlss ) S |y e by S
—anole S

P. o Csd gl sl o S b ar A8 o lea) o i s AS a8 )5S Y S LS Al 5 jse sl

Q. i i i e ) e 8 S e K S,

R. =8 J% (o s 24 o) b o e S5,

S. ¢S S JSIGI 55 (SU by S Uaiil 4S50 b Sl s il 38 S |5 abiaa) @il (sala,

T. L Ll ) 56 o S8 sl cm o R gty ) Sl lu Hol 8 Sed gy namy S 5K 8 5l 5K 0

S ln doadealugsS oy S oo by

AQ
AQ
A.Q

B.R
B.R
B.R

C.S
C.S
C.S
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D.T
D.T
D.T

Answer: A.Q
A.Q
A.Q
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Answer:

AT feciean T ove o Faer.
DIRECTIONS: Choose the odd one out from the given alternatives.

iy S 5 o o e e B i

ATH
A.lce
A

B.&%

B.Cake
B.-ss

C.O
C.Pastry

C.-s iy

D fawple

D.Biscuit
D.-CSew

ATH
A.lce
A

GET IT ON
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148 Out of the given options, choose the one which is the correct indirect speech of the sentence given
below.
Peter said to David “How often do you go to the theatre?”

A.Peter asked David how often he go to the theatre.

B.Peter asked David how often did he went to the theatre.

C.Peter asked David how often he went to the theatre.

D.Peter asks David how often he was going to the theatre.
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C.Peter asked David how often he went to the theatre.

4 4
(A) +Ef =%
+ 8 g
(B) 13" 13
5 5
C ol
(C) +4; P
5 5

0 Pt

@ Fioe

P! TS HRUT T rdepresra fidr o emcii=ar Hra=arn Furdrd
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Prolonged feeling of an anxiousness and apprehension without any apparent cause is called as

= U LS 5y psh S Gabeal dysh (S (BadS )5l SUsha iy S s mals o (oS

A ARG dToT
A.Strain
A.Sui

B.dIUr
B.Stress
B.Suis

C.Rifeeh Tarset

C.Neurotic anxiety
C. iy SG5

D. 3R Tagsel feidr

D.Existential anxiety
D.oi sl (dgana e
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Answer:

152

C.ZRifeeh Taset

C.Neurotic anxiety
C. sy ST

GET IT ON
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JTEUAR 3T YA JIATGR HRUATd STl

Pioneering experiment on conformity was carried by

R S b S S Al S s Sl

AHAHA

A.Kelman
Ao

B.RRI®
B.Sheriff
B.—a i

C.PIaH
C.Cohlman
C.oWd <

D.SHH-

D.Duqkman
D. oS3

B.XRI%
B.Sheriff
B.—w i

=T Aferest guf 1

EZ, ?, IV, KT

DIRECTION: Complete the series

EZ, ?, IV, KT

58 JaSa 5S 7w ol il
EZ, ?, IV, KT

A.HX

A.HX
A.HX
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B.GX
B.GX
B.GX

C.FX
C.FX
C.FX

D.XF
D.XF
D.XF

Answer: B.GX
B.GX
B.GX

153

A. 42
B. 58
C.32

D. 63

Answer: C.32

154 gqeeTdt qald g SitaT S
The longest chord of a circle is:

= S dish o 1S il S

A TR

A.tangent
A tangent S
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B.I=a1
B.Radius
B.Radius ki cauai

oReril

C.circumference
C.circumference (s b &S

D. O
D.diameter
D.diameter _ké

Answer: D. O
D.diameter
D.diameter _ké

155 V144 ¥ /7T 3T
The value of y1.44 is:

—_

g e & \Il' 1.44

A.0.3

B. 0.03

Answer: C.1.2

156 fcar: Tefifeaedr SI&RT=aT AT BTET &R eI bail 3Mad o T A TTal fededT yaiaits! Th 3T

b ¢ _cba_c_bacc_ba_ cc

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in
that order as one of the alternatives below it.

b ¢ _cba_c_bacc_ba_ cc

2 A8 e S S Ja il (SO ST o eadf Giga (S8 pe g m Gios S di

b ¢ _cba_c_bacc_ba_ cc
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A.acaccc
A.acaccc
A.acaccc

B.acacab
B.acacab
B.acacab

C.abcabc
C.abcabc
C.abcabc

D.ababab
D.ababab
D.ababab

Answer: D.ababab
D.ababab
D.ababab

157

Answer:

TP TR T ATdid IR 3iaR 3iTe:

One astronomical unit is the average distance between:

=S Gon ey (San S i gy Sl (S

A.gdt sfor gd
A.Earth and the sun
Az sl om)

B.geat 311for 9
B.Earth and the Moon
B.ala sl o)

C.T& 3T gd
C.Jupiter and the sun
C.zos=s Auss

D.wqet 31for g
D.Pluto and the sun
D.zoss s S5

At ST g
A.Earth and the sun
Az o) Om)

GET IT ON
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158 XD U
999 -432="7

Simplify:
999 -432=7

ol lal:
999 -432="7

A.467
A.467
A.467

B.538
B.538
B.538

C.567
C.567
C.567

D.632
D.632
D.632

Answer: C.567
C.567
C.567

159 AT Wlellel Y%Al SoRic e GAATdT HIorear SRR HAhclid Yeelcler Al Adsid a7

DIRECTIONS: In the given question find the answer figure in which question figureis embedded.

URe ATl FTETS AR 3Hcar

Question Figure Answer Figures

iz S Jlsaw sl S ls2
X Iy X128 ¢
(A) (B) (®)] (D)
A. (A)
B. (B)
C. (C)
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Answer:
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Answer:

161

Answer:

A. (A)

W] BTG IHIER 3Med?

Which of the following is an amphibian?

—= ux dd a3 Amphibian § = oS

AHTY
A.Man

A. AEAJ‘

B. 9IRSl
B.Salamander
B. e

C.gil
C.Elephant
C. &b

D.geft
D.Bird
D.3»

B.WRsl

B.Salamander
B. PRIV

A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic
expression ‘jack of all trades’ in the sentence given below?
John can do plumbing, carpentry, and roofing—a real jack of all trades.

A.Someone who can do several different jobs instead of specializing in one
B.Someone who is an expert only in one thing and fails to do any other thing
C.Someone who is a rich businessman

D.None of the above

A.Someone who can do several different jobs instead of specializing in one


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

162

Answer:

S{ATI S UfehdT Gayd = 32 gui gid

Teaching learning process fundamentally is completed in

= s JSa sk ol adai (S Jee S _igSan

A

A.classroom

A_ag\u)d

B. XT3
B.school

B.d Sl

c.ga
C.society

C.clew

D.WR
D.home

DS

AT

A.classroom

A_bgu.u‘)d

GET IT ON
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163

Answer:

164

Answer:

=T WIOTer 93T, Tooed JIaEus Aldeay ST Jedl =asT,

DIRECTIONS: In the question below_ select the related figure from the given altematives.

i3S e gt alliio i ao Wslin =B s rpe Jlga S L5 by

Froblem Figures: Answer Figures:

| AP ? N

(A) (B) (C) (D) (1 @ & 4

A1

B.2

C.3

D.4

C.3

HYT 3 ol AR % HFRIHEST Ha ST,

About % of children with autism are also mentally retarded

O e S e S (Sl e 0 dad L Al S 2 65

A.90
A.90
A.90

B.70
B.70
B.70

C.100
C.100
C.100

D.25
D.25
D.25

B.70
B.70
B.70
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165

Answer: A. (A)

166 fafRy el M 8 auiHe Ush I9hH fa=T 7/5 UC Bid. TSl & BIel?

A sum of money becomes 7/5 of itself in 8 years at certain rate of interest. Find the rate:

WS pslra 3 o Pl /5 S 2 6 e SOl e e 8 g 25w (S 3 pa i S

A.5%
A.5%
A.5%

B.1/2%
B.1/2%
B.1/2%
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Answer:

C.8%
C.8%
C.8%

D.12%
D.12%
D.12%

A.5%
A.5%
A.5%

TRET 7 fOAT=T 1 T D 3Med
The author of the book ‘Sanrakshan Ya Vinash'’ is

AT &t
A.Sarala Devi
A Y

B.de1 Rmar
B.Vandana Shiva
B.) sl Laig

C.SH HIRec
C.Jim Corbett
C.luw S an

D.Xph di~s
D.Ruskin Bond
D.3is Sy

AT &t
A.Sarala Devi
A Y

GET IT ON
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Answer:

GET IT ON
Google Play

@%WWWQWWWWWWWWWWWW

When your female colleague takes extra advantage of you in academic pursuits then you take the

following decision—

op S e b aa jaie G 5 (il o8 ilial 1S G el el cgtlas (080 2 (S Gl -

INGICESICREIEILI ud:wﬁwwgw
A.Immediately restrict yourself from her company
ALS 50w Cune (Sl Sl Al Hehs s

B.faa yigwra et SuR A6t

B.Never give her opportunity in future
B.lus ~ adise L) (S 58 () (e Jiflse

c.faaameR a1 FRoR

C.Criticize her
C.aas il

D.fa <iworrean Serd 3red QUK.

D.Try to escape from her dragnet of exploitation.
D.LS (il S (S Sl S (ol o dualad S Jluanial,

D.fa <iworTear Serd 318 SUIR.

D.Try to escape from her dragnet of exploitation.
D.LS (il S (S Sl S (Gl —w dualud S Jlanial,
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169 LI 31iguUl uRwse i HRugret, @l faddl (P), (Q) (R), (S) ST (T) 8 U aTd A Sfeh
TREHT &T; IR @TelTd gt ST .

P. WM UhAH R dg MUTST W SHUITUET desiie Hul 30T fi /o givTel 318 o 31for Rig
G BRadTd.

Q. dl U TRH IgTesTdl féad gIdl. uruht fGuarardl Ut Bicar dersides Rig 3Mfor gam ddid.

R. d U4 groft fdrd snfir aar smasmuear Arfar fea S

S. AGHT I Hesd o, MUTS AFUS! T fohal Gre! @rell TSUaT ale UTgd 3MTgd, < Araat
EECICIRRI

T. 107 37eft Uroft IR rae a1 1 SMf0T dg SR GH JIUARITA! o YISIdes Yisd, dagl i
&1 317 fob =araR fiers aired.

JASEHT HedHdR WUt HIod ared Urad 3e?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The lion and the boar then decide that it was best to make up and be friends than fight and become
food for vultures.

Q. It was a hot summer day. A lion and a boar reach a small water body for a drink.

R. They drink the water together and go their ways after.

S. Soon they realize that the vultures are waiting for one or both of them to fall, to feast on them.

T. After arguing and fighting about who should drink first, they get tired and stop for breath, when they
notice vultures above.

Which of the following should be the FIFTH sentence after rearrangement?

ostex b o) 1Ll (P (Q)¢ (R)6 (S) sl (T) st =8 0 2 ey ¢ i qaii o Jlgs ) Sl | m ciee by S
s S

P 2 ciss el Hs) o Spham S olea) b ala SR 55 58 oY SUSAdlad s sl il

Q. i i b i sl e W QIS e S

R. 8 S il ) 24 2l o) by o e il s,

S. ¢5 S A 55 S by S Uil NS (550 Ly Sl s el 28 S5 (o) ) ol

T. W Wt al S0 a8 S LSy g an o Bt Al Sl gl sl 8 S o S S B ) S8 e

s Ligsogailyalen Lu ()5S amy S 53 Cam 5o g0

AR
AR
AR

B.P
B.P
B.P

c.Q
C.Q
c.Q
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Answer:

171

Answer:

D.T
D.T
D.T

AR
AR
AR

Wreade! Fafd e 3qulfes e
Find the smallest of the following fractions

S O € (Fsen —w i e (e S 1D Ao

A.85/48
A.85/48
A.85/48

B.135/123
B.135/123
B.135/123

C.23/15
C.23/15
C.23/15

D.812/795
D.812/795
D.812/795

D.812/795
D.812/795
D.812/795

‘BT H YIaR] Ue JTeat.” IT JreTdid [a=IvoT 3iel.

AT

C. IRy
D.US
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172 digesTed YRATHE 3raied a1 Afiic Uchige arad! UfddR® §d-
This naturally occurring element in the rice husk makes it termite resistant -

= U pal e Sand 53 puaie adly gy sk ()8 (e uge S Jsls -

A fferpiA
A.Silicon
A Sl

B.®Igthc
B.Phosphate

B. cualls

C.AeeH

C.Nitrates
C. ol

D.UARISS
D.Fluoride
D. 33,58

Answer: A Riferera
A.Silicon
A. oSl
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173 T YD URATAT U T fauMiiad IR faem™ sgd Sai=amard! A, B, C 3101 D 3 IR fau™ siie.
HUIR faumT SISt fHasT Same wd faum™ gu=a e Jaad, ST el faum dfddmesear vE
faymTEIed AfSd .

SR AET ST fiesTdl, a) T a1 St IR JIg X
A. HAT AT fHeTa

B. HAT ATHAUI UTWT STl ATat

c. #t srdmaTar Sufyd gray

D. HY SRIchAT IufRUd Tagat

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If | receive the invitation, | will attend the function
A. | received the invitation

B. | did not receive the invitation

C. | attended the function

D. 1 did not attend the function

in S s Ses Sluie paand g R S wdlh S 63 ) ue e ) e s an Sea o ales SOl e Vs syl
op Githe S ol S e GEhie laa 93 Hl by So Ll gl (S Alea 2 pugd alea Sy (L

B O3l O 08838 (e 53 e ey gaa K
Ak Gised e
Bole g Dsed —ge-

A.AC
A.AC
A.AC

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

Answer: A.AC
A.AC
A.AC
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LI WMl [Gaedn UHiaed Tt diF fAUH IR T1e 3Hied. Udd Igpldid AU Hlaeigdd ardr i

foRR faem qh Ut ufigedt G faum SFERU HRURIR) T ST,

(a) FTe! SHE ATRYS 3 dTd. HTe! AIRIS Raaeifers dId. Slet S fRudebTieid ST,

b) dTel YT Yd SdTd. All ghosts are faints. HTg] 4 HHSIR ST,

(
(c) Td YRT TP AT, Jd TMYH MHIR 3GdTd. Hlat NHIR WA ST,
(

d) 3% T Y SYdTd. d G Yol 3RIdTd. BTal Uborg ST A9drd.

DIRECTION: The questions given below have four groups of three statements each. Read the
statements in each group carefully and identify the group/groups where the third statement logically

follows the first two statements in the group.

a) Some journals are magazines. Some magazines are periodic. Some journals are periodic.

c) All scientists are researchers. All researchers are professors. Some professors are scientists.
d) Many baggages are luggages. All luggages are packages. Some packages are not baggages.

(
(b) Some horror is ghost. All ghosts are faints. Some horror are faints.
(
(

o) s o5y e land € il (e s R s 8 Sl Sl s (e Sl (08 S SV R 0 (e i iy
s BS Gam S bl g0 Lo (e s 8y sk Gihaie la | e Qs (S @alid (S Gu g Koy S

(8) o e Jin 43S 0 e (1 Bae 428 n (Ke Jiga 42S

(D) - Jar Culad 625 0 Ja 0 Do ot - o S Dl 43S

(C) U 12 il o g g3 62 -m pradg IS (BT (g - IS B85 (1d Geiile (o
(d) - o Slan) 8 625 -0n m8a Olba e o Ol Sl

AHAD b, ¢, 3T d

A.Only b,candd
A raceb i d

B.%de5 b 310 ¢
B.Only b and ¢
B.<w»=b uslc

C.$Ha a 3T d
C.Onlyaandd
C.wr=a yid

D.&%dB b
D.Only b
D.<@yab

B.%des b 3T ¢
B.Onlyband c
B.«w,xb sc
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T BRI SAIBRY A/ VT Uh sl e, Sd- Wd: = g1l vdell 9 fIpR) Hrafed gsad.

Fa I
|. TRPRY SHfUpTarar RIpd Hd Uriest

II. TQTa RUGTHE TddiedT ardai-T sl fad e,

Statement:

A government officer was caught taking bribes. The public took matter into their own hands and

ransacked the officer’s office.

Course of actions:
I. Government officer should be rewarded.

Il. Persons involved in the ransacking should be rewarded

obw:

o) o3 e (S S il 5 T e gl ) alera 5l se L V3K i sy el (5 S s S

Jee Aa3Y:
|- =l Ul L pladl oS yudl (5 1S o
[l s Ula Lo alash S 31 Casla aa o550

ATHA | IR 3T
A.Only | follows

A Gpal K o KY

B.Wdd || 3{IRUI B 3T
B.Only Il follows

B. Giya |l K 5 SY

C.UHMR | fhaT 1| 3T 318
C.Either | or Il follows
C.ILIS 5 SY ) e

D.1 fhaT 1| SFEI0®! BTele! SR HRd TG

D.Neither | nor Il follows
D. 1 osh 8 5 e SY e GBS i e

D.1 fhaT 1| SFEI0®! BIale! ST HRd TG

D.Neither | nor Il follows
D. 1 osh 118 5 e SY 2 5S — e
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SHgE e fadm e T UHT Sar S{UTT BIugTe HidhT Jaifid SRaal

At stage of prenatal development an organism is most of vulnerable to injury

dec#%SbﬁﬁejﬁJiJg\ﬁJaf %}JSCSQ:\AS\}

ARy e

A.Germinal stage
A el s i

B.IH
B.Fetal stage
B.als e i

C.TTHRN URMYS 3rawT

C.Embryonic stage
C. Al e Lalin) 13634

D.AdB a|%|
D.A & B both
D.A _sB usis

C. YR URfYS 3ra=T

C.Embryonic stage
C.rls e Llin) 154341

I feaean yafaige aves o fHasT.
DIRECTIONS: Choose the odd one out from the given alternatives.

oty S S o o e dilie K 1

AT
A.Wool
A.os

B.UN
B.Feather
B.<5u

c3im
C.Silk
C.adu

D.I1dd
D.Grass
D.8
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Answer:

179

D.I1dd
D.Grass
D.os

GET IT ON
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SR Tare] fagmdf suedrer g et A odl Biel SHeT U3 STl OX) Sedral Nerddm 3al 3Rid, TR

SYUT-

If a student visits your home without prior permission with some problem, you will—

Q5 o e S ol ks S al (K s g S e Lk S S

A.FSR Ugdid ufafesar qomR
A.React in a harsh manner
A0 Qs (e Sl i SO

B. 1A YUY IR sl 318 Iurg HifuIR
B.Tell the way to get the solution
B.osilis aiy sl IS S duala s

C. T JARBS W&l UK ATe!

C.Not give a take notice to the incident
C.oX oy S il

D.3T9UTd TSI Y e AehT 3 TR

D.Ask them not to do it to avoid accident,
D.US G m 2 S s e dals &S il S gl

B. T YHRD IR Hesd 3/ IuTd RTUIR
B.Tell the way to get the solution
B.osiiy Ad sk 1€ 5 S Juals Ja

STGIG B o IS T8 —
Baghdad is the capital of -

AT

A.lran
AS O

B.3Xdh
B.lraq

B..Sdle
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Answer:

C.Sred
C.Jordan
C..S Sl

DT} PIvIdE! 8!

D.None of these
D.uy 258 o el

B.2X[dh
B.lraq

B..Sdle

GET IT ON
Google Play

A BT B U&fT gWT IITAl IR 8. THHAARAT d U S 14 fGaqid guf drard. A a1 d S T guf
RO fabell fead amTiter?

A is twice as good workman as B. Together they finish a piece of work in 14 days. In how many days
can A alone do it?

A 53n o lead L B - G 58 S8 e 00 14 oS G50 S U (s o A € U S i (e (03 S S 418 Ll LS

A.19 feag
A.19 days
A 1902

B.15 faad
B.15 days
B.15¢0

c.21 feaq
C.21 days
C.2102

D.14 feaqg
D.14 days
D.1402

c.21 feag
C.21 days
C.2100
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Answer:

“3(Hg o' At URieg Hreast git -
‘Avand Math’ was a famous novel by -

u&:\uwcs.@i\mjd)h‘)”fm

AR T fagmrR
A.lshwar Chandra Vidyasagar

A BL Loy Haia sl

B.sifH i TcIuTeAmg
B.Bankim Chandra Chattopadhyay
B.osbaay fia aia oSG

C X1y TR
C.Rabindranath Tagore

C. o585 ¢l yaim

D.RRd dg I
D.Sarat Chandra Chattopadhyay
D.csbaslysia s &y

B.sifH i TcIureAmy
B.Bankim Chandra Chattopadhyay
B.sbaal fia Haia S

T xa3  xb3  y3abla+b) = (25}25 qiira + b = 59% x FEr

Solve for x if x= x& x2(=8) _(25y%nd a b -5"

oSl = Xsi':xaa-xba-xhbmm =(2)% »l a+b=5 3

A.2

B.3

C. 1

D.0

A 2

GET IT ON
Google Play
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ﬂ&%mwmm&awﬁsrﬁ&msrﬁ&n%awww5ﬁ&mmwwmm

Diagonals of a parallelogram are 8 m and 6 m respectively. If one of the side is 5m, then the area of

parallelogram is:

= ABDle 1S e S (sl sie i fe B Gyl Sl 1L o e 6 ) e i il yla 1S ¢ 3L (5 ) sie S

A.18 HI?
A.18 m?
A8 e g

B.30 Hi2
B.30 m?
B.30 fx @

C.24 H2
C.24 m?
C.24 Sy

D.48 12
D.48 m?
D.48 jx gy

C.24 Hi2
C.24 m?
C.24 jiwpm
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184 I feareht wfec dreseiigde arar SHfn Wred wsi IR &
TSI P, Q, R, S, T 3101 U Ao hU=gid TH Hdld, S - TTd, iR, Wafded, Tud, hagd
30T HRST T § AT A Said 3 gl
|. ST U761 C ITaal 318 df YUaHed HTH dal 30T S HIe] U arda 3Mg al T H HIH dal.
II. U BT Ui fdbar lhageded 1 $-d g,
1. P 8T et Tram o aroRar 3nfor 3iRed Hel BT .
IV. S UgHHS HTH HRId el 0T MAfeH feaan [ refen uraiford s el
V. T Teed ST Fxal 3N S fobar N gt Tud Hed &1 v e,
V1. Tage feva fdhar fUgesn T =1¢ Ui & ATeid ST R T AL &9 Bl
TTeierde! BT T 3R 2

DIRECTIONS: Read the following information carefully and answer the questions that follow.

Six friends P,Q,R,S, T and U works in different companies namely— Google, Oracle, Prometric, Apple,
Facebook and Tata and each wears different coloured company- sponsored shirts, viz., White, Black,
Orange, Yellow, Green and Grey though not necessarily in the same order.

I. The one wearing the white shirt works in Apple and the one wearing the black shirt works in Google.
II. U does not work in Prometric or Facebook.

[ll. P wears orange shirt and works in Oracle.

IV. S does not work in Facebook and green coloured shirt is not sponsored by Prometric.

V. T works in Tata, and neither S nor Q works in Apple.

VI. Facebook does not sponsor green or yellow coloured shirts and R works in Goole.

Which of the following is true?

on Gl SOl & a5l g5y s s S Glaglae dad ke 1l

sl g Pe Qe ReSe T sl UG ) eSmsd el oS Sinas s edSas) « 88 — ol S 0 0 58 1S (e (s iline
Y 2 81 se s el (S0 IS i s Ui Sl g (S il (S S (S K0 Caliine Sy
- e T Sy sk

| = S a8 ae R W1y iy &1y (S sl o U8 IS Gpe Jyl W1 iy &5 b

- U - = BS oS Gae Sansd b S Sy g

- P - = BS a8 (e ISl Ls) o g S5 Ko

IV- S -2 0 e oS omsilansl mmg 3 S S Sl S5 (S K05 2 sl 2 BS Gl oS (e S

VT 50ms) ot S oS e BES ot i Q s US 1S (e

VIsh = S O puailgusd &35 (S 805 b S . R o WS A8 e KK

§ 2 G0 O5S  e 3 s 2ie

ATTET BT TS TSI B

A.Tata sponsors black shirts
A= US il &8 (S K, S BG

B.TY BgH A HTH Hal

B.S is working in Facebook
B.S = LS plS (e S

C.T BT T °Ted
C.T wears grey shirt
C.T =l &l s

D. &Sl X BagHHTGT UTfoTd Far e 3g

D.Grey shirt is sponsored by Facebook
D. =l (S il &b (5560 Am 3 S S
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Answer: D.$REl X[C BUGHHTD T TSI ol TialT 318
D.Grey shirt is sponsored by Facebook

D.= e (S milaad &b (5563 Amd S S
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AT Giellel Y=l SRErdl Uk dhsdrn (didi=l / aiterer / Fwof) asar aidear 3med 9 #id
TS HTRC. &1 FIOIG SePSeaia) FeATdiel JThAryenT GHal. Smgrad g 3l nedr Fast
SiT 3TETEEATaY FG Ta8T T g idearganT .

DIRECTIONS: In the following question. 3 sheet (square/circle/riangle) of paper is folder and punch is made.
When unfolded the paper sheetlooks like the question fizure. See the answer figures and select the one that follows
the mannerin which the paper is folded and punchis made.

Wi i gl o e el s ) i, oS S ) 5 i Ji ot el
wsbai oS wlsz - = il i Tl S usai £ S Jlgw i i = bilo YogS 55 i oS 126 vz - = bl
o gz = S Soam oS < ale pul 92 S aiio 55 jsaai Gl Sl 2w ae 0l sl UiS e Ye
- =2 IS L sugz sl = IS Ljsa o5 a5

Question Figure Answer Figures
s Y
X (A) (B) (C) (D)
A. (A)
B. (B)
C. (C)
D. (D)

Answer: A. (A)

186 12:20 @1 fHfE S0 T HIcATEIRT IO HIUT SHT?

What is the angle between minute and hour hand at 12:207?

12:20 $.8 Gl sl LS g (S 368 5 S

A.260°
A.260°
A.260°

B.110°
B.110°
B.110°
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C.120°
C.120°
C.120°

D.20°
D.20°
D.20°

Answer: B.110°
B.110°
B.110°

187 3N WA SHBHaid Meied] HeATAIGTT BIgrT TN HIOTATES! AT -

The massive hole in the ozone layer over the Antarctica was first discovered in -

L LS LS il pn oy s o ) sm g e 2 3 e e (S (s sl S WSS ) -

A.1976
A.1976
A.1976

B.1984
B.1984
B.1984

C.1960
C.1960
C.1960

D aqU! Tt ATat

D.None of these
D.us 2 258 oo O

Answer: B.1984
B.1984
B.1984

188 T A1 YaY Ioreh 3N dud URG T Gae Jrameit g
‘Joule’ is related to energy in the same way as ‘Pascal’ is related to

B N S | Y8 - Y Uty P DU PR N ¢ AT PEN
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fIERT: WTeld a1 HIsSiyde ardT 0T @Te faeiedn Tyt 3T .

PJ%5DSLO3#AQ4@QUFT*Z8K2M&H

A TXHAF
A.Mass
A.ns

B.cld
B.Pressure
B. sk

C.YAdI

C.Density
C.idlis

D.Y[edl
D.Purity
D.cllal

B.ald
B.Pressure
B.sba

GET IT ON
Google Play

SR TR T4 78 HIg el ar YaId Gt HIvdl Ucdh Jordl Hg- SehRIdT 3a?

DIRECTIONS: Study the following arrangement carefully and answer the questions given below.

PJ%5D$LO3#AQ4@QUFT*Z8K2M&H

If all the symbols in the above arrangement are dropped, then which of the following will be the eleventh

from the right end?
S Qs o ) a0y S i (S ol
PJ%5D$LO3#AQ4@UFT*Z8K2M&H

T80 LS G s )8 gl a5 2 3 B LSS g il i 5l K

AD
AD
A.D

B.P
B.P
B.P
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C.Q
Cc.Q
c.Q

D.L
D.L
D.L

Answer: C.Q
c.Q
c.Q

190

Answer:

191

668 + 167 x 284 =?

668 + 167 x 284 = ?

668 + 167 x 284 = 7?

A.1156

A.1156
A.1156

GET IT ON
Google Play
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Answer:

B.1136
B.1136
B.1136

C.1096
C.1096
C.1096

D.1116
D.1116
D.1116

B.1136
B.1136
B.1136

GET IT ON
Google Play
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T AT GSUTRAEd ATd HRI?

Pointing to a woman in a photograph a man says: “She is the only daughter of my mother’s only

daughter in law”. How is the woman related to the man?

A LS e el 8 ee " o (An sty (S sl (S gm0 " WS el S S il Gl (S e e sl

L

A TRITT
A.Sister
A.or

B

B.Daughter-in-law
B.se

C.3Ms
C.Mother
C.uw

D.gefr it

D.Daughter
D. A

D. et

D.Daughter
D.i
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193 I et ifg<t dreseiigdd arar ST @Ted wyid Sae 2m
eI P, Q, R, S, T 3101 U ATTaTe hU=gid TH Hdld, S - T, $iRdbd, Wafds, Tud, hagd
30T HRST T § AT A Sald 3 gl
|. ST U761 C ITaal 318 df YUaHed HIH dal 30T S HIe] U arda 38 al T H HIH Hal.
II. U BT U fdbar lhaged e 1 $-d g,
1. P 8T et T o aroRar 3nfor 3iRed Hel BT .
IV. S UgHHAS HTH HRId el 0T MAfeH feaan [ refen uraifod daid el
V. T Tl HTH xal 30T S fhar N grog! Tud 788 S $H-d el
V1. Tage feva fdhar fUgesn Tt =1¢ Ui & ATeid ST R T H 619 Bl
WACHTR DIV BT HIA?

DIRECTIONS: Read the following information carefully and answer the questions that follow.

Six friends P,Q,R,S, T and U works in different companies namely— Google, Oracle, Prometric, Apple,
Facebook and Tata and each wears different coloured company- sponsored shirts, viz., White, Black,
Orange, Yellow, Green and Grey though not necessarily in the same order.

I. The one wearing the white shirt works in Apple and the one wearing the black shirt works in Google.
II. U does not work in Prometric or Facebook.

[ll. P wears orange shirt and works in Oracle.

IV. S does not work in Facebook and green coloured shirt is not sponsored by Prometric.

V. T works in Tata, and neither S nor Q works in Apple.

VI. Facebook does not sponsor green or yellow coloured shirts and R works in Goole.

Who works in PROMETRIC ?

on Gl SOl & a5l g5y s s S Glaglas dad ke 1l

sl g Pe Qe ReSe T sl UG ) S el oS Sina gy eS80 « 88 — (ol S 0 0 58 1S (e siaS Ciline
oY 2 R s s r ety (S (IS e a3 Uiy G158 L (S il (S S (S Ko i Sl sl
- e T Sy sk

| = S a8 ae R W1y iy &1y (S sl o S IS Gae Jyl W1 iy &b b

- U - = BS oS e Sansd b S Sy g

- P - = BS a8 (e ISl L) o iy S5 Ko

IV- S - 2 0 e oS pmiland nngpd S S g 5 S35 (S K 2 g sl 2 VS G oS (e S

VT 50m5s) ot S oS e BES ot i Q s US 1S (e

VIsh = S O puailgusd &35 (S 805 G be S . R o WS a8 e KK

§ o LS A8 (S (e S e

AP
AP
AP

B.Q
B.Q
B.Q

C.R
CR
C.R

D.S
D.S
D.S
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Answer: D.S
D.S
D.S
194 U1 T-UAT 1/2 T AT 1/3 YT 17 F SR 3T, ol TBAT HIET?

1/2 of a number is greater than 1/3 of that number by 17. What is the number?

€ WS de o 5 atige 17 = 1/3 28 0 1/218 22 S

A.54
A.54
A.54

B.84
B.84
B.84

C.102
C.102
C.102

D.112
D.112
D.112

Answer: C.102

C.102
C.102
195 T faaiedn watameH e Weg e,

S A e Ty ar=ar=ar IR 3Te ST WA= GaY ... Jied 3778,

DIRECTIONS: Choose the analogous word from the given alternatives.
Anemometer is to Wind speed as Aerometer is to
028 Al 1€ Jadl glae e Joliie K el

Sl S e S Seson) Sl o sl S ) (S5 33 1S fha il
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Answer:

A TG THT0T

A.Amount of rain
A dlasd (S L

B.dIdTdRUMT cld
B.Atmospheric pressure
B. 3o ol

c.fagad vare

C.Electric current

C. o>
D. g gdr

D.Density of gases

D.argdl o
D.Density of gases
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i 99 A1 Goli=aT aaT=AT diFue gld?

The present age of Mr. X is double of his daughter. If the present age of her daughter is 20 years then

how many year ago his age was three times that of his daughter?

Jiosa X insa ey Js 8 5y Jes 20 e 03558 S Sy oS 0o 8- € 9 (S e (oS (i S Gl e 535350 (S X

Cotd W8 (48 (S yee (S (A (S ) e (S

A5
A5
A5

B.8
B.8
B.8

C.10
C.10
C.10

D.12
D.12
D.12

C.10
C.10
C.10
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GREGIT JNY BT ATTAT?

Who is known as the inventor of Telephone?

=S TS S osls

A ST arft 9
A.John Logie Baird

Asn S da

B.SIRI dc
B.James Watt
B.& s paans

C.3caiex UgH 9d

C.Alexander Graham Bell
C.du al X 2 3530

D.fore s
D.Wright Brothers
D.owoan <l

C.3cagIiex UIgH 9d
C.Alexander Graham Bell
C.du &l X 2 3530

TIT: fadiean waiaimeH o o FHdsT.

DIRECTIONS: Choose the odd one out from the given alternatives.

ot S 5 o e e Qe 8 1

A.26, 3
A.26, 3
A.26, 3

B.39, 4
B.39, 4
B.39, 4

C.44,6
C44,6
C44,6
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D.44,7
D.44,7
D.44,7

Answer: B.39, 4
B.39, 4
B.39, 4

199 3w TIeiia U aul Aifere Ael, BIal 3R 8T 3MTad, S Wielt fediedn yaiat 7ed Ul M faaa
3Ted. I gy fAas.

ab - aa - bbb - aaa - bbba

DIRECTION: In each of the following letter series, some of the letters are missing, which are given in
that order as one of the alternatives below it. Choose the correct alternative.

ab - aa - bbb - aaa - bbba
i MR s e DR K s i el i gaS e e S in 20 i iy

ab - aa - bbb - aaa - bbba

A.abba
A.abba
A.abba

B.baab
B.baab
B.baab

C.aaab
C.aaab
C.aaab

D.ahab
D.ahab
D.ahab

Answer: B.baab
B.baab
B.baab
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How would you pay regards to a principal involved in immoral practices?

€8 S S8 b eSS i g S Eusle e stk (BYA) e

A Ufgeicra wad drafaard JarT

A.Only at first sight when you visit the office
Ao S g i gy Sl i

B.GRIS] UHIB| d YHTHIB] HRATad SHR FredHl
B.In the morning and evening before leaving the institution
B.om old oy v S5se 0l ) paa

C.Whad ITeT HecdTav.

C.Only when you meet meet him.
C.on S Alile i o) & o s,

D.3{TYUT 3T HKITDh S é’,?f&‘[ PIUYE YId HhUMIR
D.You try neglect such a person.
D.S Gl sS (S S8 Hhalh S gadd gl il

A Ufeicra bad Srafaard JarT

A.Only at first sight when you visit the office
N R B S E g Y

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




